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General Ability
Group Number : 1
Group Id : 753229215
Group Maximum Duration : 0
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Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  
  

General Ability
Section Id : 753229215
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229258
Question Shuffling Allowed : Yes
  
Question Number : 1 Question Id : 7532294047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following letter series.
MELT, OFNU, QGOV, SHRW
Options :
1.  OFNU
2.  MELT
3.  QGOV
4.  SHRW
  
Question Number : 1 Question Id : 7532294047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत अ�र �ंखला म� गलत पद �ात कर�।
MELT, OFNU, QGOV, SHRW
Options :
1.  OFNU
2.  MELT
3.  QGOV
4.  SHRW
  
Question Number : 2 Question Id : 7532294048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series.
SYMMETRY, UAOOGVTA, __________, YESSKZXE
Options :
1.  WCQQIXVC
2.  VAPPHWUC
3.  VAPPWHVC
4.  WCQQJCXV
  
Question Number : 2 Question Id : 7532294048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत अ�र �ंखला म� लु� पद �ात कर�।
SYMMETRY, UAOOGVTA, __________, YESSKZXE
Options :
1.  WCQQIXVC
2.  VAPPHWUC
3.  VAPPWHVC
4.  WCQQJCXV
  
Question Number : 3 Question Id : 7532294049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.
Options :
1.  ACE : 135
2.  GBF : 726
3.  IAD : 914
4.  HCB : 852
  
Question Number : 3 Question Id : 7532294049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदए गए िवक�ो ंम� से तीन एक िनि�त तरीके से समान ह�। हालाँिक, एक िवक� अ� तीन की तरह नही ंहै। उस िवक� का चयन कर�  जो अ� से अलग है।
Options :
1.  ACE : 135
2.  GBF : 726
3.  IAD : 914
4.  HCB : 852
  
Question Number : 4 Question Id : 7532294050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term. 
SLJ : TNM :: QXC : ?
Options :
1.  RZF
2.  QYF
3.  PYD
4.  SZG
  
Question Number : 4 Question Id : 7532294050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उस िवक� का चयन कर�  जो तीसरे पद से उसी �कार से संबंिधत है िजस �कार से दूसरा पद पहले पद से संबंिधत है।
SLJ : TNM :: QXC : ?
Options :
1.  RZF
2.  QYF
3.  PYD
4.  SZG
  
Question Number : 5 Question Id : 7532294051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term. 
Gangtok : Sikkim :: Itanagar : ?
Options :
1.  Assam
2.  Arunachal Pradesh
3.  Mizoram
4.  Tripura
  
Question Number : 5 Question Id : 7532294051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उस िवक� का चयन कर�  जो तीसरे पद से उसी �कार से संबंिधत है िजस �कार से दूसरा पद पहले पद से संबंिधत है।
गंगटोक : िस��म :: ईटानगर : ?
Options :
1.  असम
2.  अ�णाचल �देश
3.  िमज़ोरम
4.  ि�पुरा
  



Question Number : 6 Question Id : 7532294052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, 'COPE' is a code for 'POEC' and 'SNOW' is written as 'ONWS'. How will 'PLOT' be written in that same code?
Options :
1.  TOLP
2.  LPTO
3.  OLTP
4.  POTL
  
Question Number : 6 Question Id : 7532294052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक िनि�त कोड भाषा म�, 'COPE', 'POEC' के िलए एक कोड है और 'SNOW' को 'ONWS' के �प म� िलखा गया है। उसी कोड म� 'PLOT' को कैसे िलखा
जाएगा?
Options :
1.  TOLP
2.  LPTO
3.  OLTP
4.  POTL
  
Question Number : 7 Question Id : 7532294053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Six friends A through F are sitting around a circular table facing towards the centre. B is sitting opposite to A. C is to the immediate right of B. D
cannot sit adjacent to A and E can't sit adjacent to C. Who is sitting to the immediate left of A?
Options :
1.  F
2.  C
3.  E
4.  D
  



Question Number : 7 Question Id : 7532294053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
छह िम� A से F तक एक वृताकार मेज के चारो ओर क� � की ओर मुख करके बैठे ह�। B, A के सामने बैठा है। C, B के ठीक दाएं है। D, A के बगल म� नही ंबैठ
सकता और E, C के बगल म� नही ंबैठ सकता। A के ठीक बाएं कौन बैठा है?
Options :
1.  F
2.  C
3.  E
4.  D
  
Question Number : 8 Question Id : 7532294054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Seven friends P through V are sitting in a row facing north. P is sitting in the middle. S and T are sitting at alternate places with respect to P. Q
and R are at the extreme ends. V is towards the right of U but not immediate right. S is to the immediate right of V and Q is to the immediate
right of S. Who is sitting at the second place from the left?
Options :
1.  V
2.  T
3.  U
4.  S
  
Question Number : 8 Question Id : 7532294054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
सात िम� P से V तक उ�र की ओर मुख करके एक रॉ म� बैठे ह�। P बीच म� बैठा है। S और T, P के स�भ� म� वैक��क �थानो ंपर बैठे ह�। Q और R अंितम छोर
पर ह�। V, U के दाएं ओर है लेिकन ठीक दाएं नही ंहै। S, V के ठीक दाएं है और Q, S के ठीक दाएं है। बाएं से दूसरे �थान पर कौन बैठा है?
Options :
1.  V
2.  T
3.  U



4.  S
  
Question Number : 9 Question Id : 7532294055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Six friends Ashish, Bikram, Chandu, Dravya, Ekta, Farooq are sitting around a circular table facing towards the centre. Bikram is sitting at an
alternate place with respect to Ashish. Chandu is to the immediate right of Bikram. Dravya can't sit adjacent to Ashish and Ekta. Ekta is to the
immediate right of Ashish. Farooq is at the alternate place to the left of Ekta. Who is sitting opposite of Ashish?
Options :
1.  Chandu
2.  Bikram
3.  Dravya
4.  Farooq
  
Question Number : 9 Question Id : 7532294055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
छह िम� आशीष, िब�म, चंदू, ��, एकता, फा�क एक वृ�ाकार मेज के चारो ंओर क� � की ओर मुख करके बैठे ह�। िब�म, आशीष के स�भ� म� एक
वैक��क �थान पर बैठा है। चंदू, िब�म के ठीक दाएं बैठा है। ��, आशीष और एकता के बगल म� नही ंबैठ सकता। एकता, आशीष के ठीक दाएं है। फा�क
एकता के बाएं ओर से वैक��क �थान पर है। आशीष के सामने कौन बैठा है?
Options :
1.  चंदू
2.  िब�म
3.  ��
4.  फ़ा�क़
  
Question Number : 10 Question Id : 7532294056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In this question, two statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statements
are true, analyze the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statements. 



Statement I: All napkins are papers.
Statement II: No paper is socks.

Conclusion I: All socks are paper.
Conclusion II: Some napkins are socks.
Options :
1.  Only I follows
2.  Only II follows
3.  Both I and II follows
4.  Neither I nor II follows
  
Question Number : 10 Question Id : 7532294056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस �� म�, दो कथन िदए गए ह�, िजसके बाद दो िन�ष� I और II िदए गए ह�। यह मानते �ए िक कथन म� सभी जानकारी स� है, दो िन�ष� का एक साथ
िव�ेषण कर�  और िनधा��रत कर�  िक �ा कथन म� दी गई जानकारी म� से कोई भी तािक� क �प से और िनि�त �प से अनुसरण करता (करते) है।

कथन I: सभी नैपिकन कागज़ ह�।
कथन II: कोई कागज़ मोजे नही ंहै।

िन�ष� I: सभी मोजे कागज़ ह�।
िन�ष� II: कुछ नैपिकन मोज़े ह�।
Options :
1.  केवल I अनुसरण करता है
2.  केवल II अनुसरण करता है
3.  I और II दोनो ंअनुसरण करते ह�
4.  न तो I और न ही II अनुसरण करता है
  
Question Number : 11 Question Id : 7532294057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the
statements are true, analyze the two conclusions together and determine whether any of them logically and definitely follow(s) from the
information given in the statements. 



Statement I: All laptops are electronics.
Statement II: Some electronics are machines.
Statement III: Some laptops are keyboards.

Conclusion I: All keyboards are electronics.
Conclusion II: Some laptops are machines.
Options :
1.  Only I follows
2.  Only II follows
3.  Both I and II follows
4.  Neither I nor II follows
  
Question Number : 11 Question Id : 7532294057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस �� म�, तीन कथन िदए गए ह�, िजसके बाद दो िन�ष� I और II िदए गए ह�। यह मानते �ए िक कथन म� सभी जानकारी स� है, दो िन�ष� का एक साथ
िव�ेषण कर�  और िनधा��रत कर�  िक �ा कथन म� दी गई जानकारी म� से कोई भी तािक� क �प से और िनि�त �प से अनुसरण करता (करते) है।

कथन I: सभी लैपटॉप इले�� ॉिन� ह�।
कथन II: कुछ इले�� ॉिन� मशीन ह�।
कथन III: कुछ लैपटॉप कीबोड� ह�।

िन�ष� I: सभी कीबोड� इले�� ॉिन� ह�।
िन�ष� II: कुछ लैपटॉप मशीन ह�।
Options :
1.  केवल I अनुसरण करता है
2.  केवल II अनुसरण करता है
3.  I और II दोनो ंअनुसरण करते ह�
4.  न तो I और न ही II अनुसरण करता है
  
Question Number : 12 Question Id : 7532294058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



If '+' means '-', '×' means '÷', '÷' means '+' and '-' means '×', then which of the following will be the value of the expression 675 × 5 - 7 + 28 ÷ 83?
Options :
1.  1100
2.  900
3.  1000
4.  1200
  
Question Number : 12 Question Id : 7532294058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
यिद '+' का अथ� है '-', '×' का अथ� है '÷', '÷' का अथ� है '+' और '-' का अथ� है '×' , तो िन�िल�खत म� से कौन सा अिभ��� 675 × 5 - 7 + 28 ÷ 83 का मान होगा
?
Options :
1.  1100
2.  900
3.  1000
4.  1200
  
Question Number : 13 Question Id : 7532294059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Numbers in the following question have been arranged according to an identical pattern. Find out the missing number.

Options :
1.  11
2.  7
3.  6



4.  9
  
Question Number : 13 Question Id : 7532294059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म� सं�ाओ ंको एक समान पैटन� के अनुसार �व��थत िकया गया है। लु� सं�ा �ात कर�।

Options :
1.  11
2.  7
3.  6
4.  9
  
Question Number : 14 Question Id : 7532294060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
From the following figure, find out the number of married people who are educated.

Options :



1.  10
2.  15
3.  17
4.  27
  
Question Number : 14 Question Id : 7532294060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत आकृित से, िववािहत ���यो ंकी सं�ा �ात कर�  जो िशि�त ह�।

Options :
1.  10
2.  15
3.  17
4.  27
  
Question Number : 15 Question Id : 7532294061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Parul is to the East of Qureshi and to the South East of Sonal. Ravi is to the North of Parul and North-East of Sonal. Ravi is inline with Sonal and
Qureshi. In what direction is Sonal from Qureshi?
Options :
1.  North East



2.  South East
3.  North West
4.  South West
  
Question Number : 15 Question Id : 7532294061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
पा�ल कुरैशी के पूव� म� और सोनल के दि�ण पूव� म� है। रिव पा�ल के उ�र म� और सोनल के उ�र-पूव� म� है। रिव सोनल और कुरैशी के साथ रेखा म� है। सोनल
कुरैशी से िकस िदशा म� है?
Options :
1.  उ�र पूव�
2.  दि�ण पूव�
3.  उ�र पि�म
4.  दि�ण पि�म
  
Question Number : 16 Question Id : 7532294062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A watch is ticking at 5:15 PM. Suppose that the direction in which the minute hand is pointing is South, then in which direction is the hour hand
pointing?
Options :
1.  South west
2.  South east
3.  North west
4.  North east
  
Question Number : 16 Question Id : 7532294062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक घड़ी म� 5:15 अपरा� बज रहे है। मान ल� िक िमनट की सुई दि�ण िदशा की ओर इशारा कर रही है, तो घंटे की सुई िकस िदशा की ओर इशारा कर रही है?
Options :
1.  दि�ण पि�म



2.  दि�ण पूव�
3.  उ�र पि�म
4.  उ�र पूव�
  
Question Number : 17 Question Id : 7532294063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The figure series given below follows a sequence. Choose the correct option from the list of answer figures, which should come after at the right
of the problem figures, if the sequence were to be continued.

Options :
1.  Image A

2.  Image B

3.  Image C



4.  Image D

  
Question Number : 17 Question Id : 7532294063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नीचे दी गई आकृित �ंृखला एक अनु�म का अनुसरण करती है। उ�र आकृितयो ंकी सूची म� से सही िवक� का चयन कर� , जो �� आकृितयो ंके दाएं ओर के
बाद आना चािहए, यिद �म को जारी रखा जाना है।

Options :
1.  छिव A

2.  छिव B

3.  छिव C



4.  छिव D

  
Question Number : 18 Question Id : 7532294064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.
Options :
1.  Image A

2.  Image B



3.  Image C

4.  Image D

  
Question Number : 18 Question Id : 7532294064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदए गए िवक�ो ंम� से तीन एक िनि�त तरीके से समान ह�। हालाँिक, एक िवक� अ� तीन की तरह नही ंहै। उस िवक� का चयन कर�  जो अ� से अलग है।
Options :
1.  छिव A

2.  छिव B



3.  छिव C

4.  छिव D

  
Question Number : 19 Question Id : 7532294065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is embedded.



Options :
1.  Image A

2.  Image B

3.  Image C

4.  Image D



  
Question Number : 19 Question Id : 7532294065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
दी गई उ�र आकृितयो ंम� से, उस आकृित का चयन कर�  िजसम� �� आकृित सि�िहत है।

Options :
1.  छिव A

2.  छिव B



3.  छिव C

4.  छिव D

  
Question Number : 20 Question Id : 7532294066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is embedded.



Options :
1.  Image A

2.  Image B

3.  Image C



4.  Image D

  
Question Number : 20 Question Id : 7532294066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
दी गई उ�र आकृितयो ंम� से, उस आकृित का चयन कर�  िजसम� �� आकृित सि�िहत है।

Options :
1.  छिव A



2.  छिव B

3.  छिव C

4.  छिव D



  
  

General Awareness
Group Number : 2
Group Id : 753229216
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  
  

General Awareness
Section Id : 753229216
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1



Sub-Section Id : 753229259
Question Shuffling Allowed : Yes
  
Question Number : 21 Question Id : 7532294067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Konark Sun Temple was built by which king of the Eastern Ganga Dynasty?
Options :
1.  Rajaraja Devendravarman
2.  Ananga Bhima Deva II
3.  Narasimhadeva I
4.  Bhanu Deva
  
Question Number : 21 Question Id : 7532294067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कोणाक�  सूय� मंिदर का िनमा�ण पूव� गंगा राजवंश के िकस राजा ने करवाया था?
Options :
1.  राजराजा देव��वम�न
2.  अनंग भीम देव II
3.  नरिसंहदेव I
4.  भानु देव
  
Question Number : 22 Question Id : 7532294068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The building of the Charminar can be credited to which of the following dynasties?
Options :
1.  Kakatiya Dynasty
2.  Qutb Shahi Dynasty
3.  Mughal Sultanate
4.  Bahmani Sultanate



  
Question Number : 22 Question Id : 7532294068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस राजवंश को चारमीनार के िनमा�ण का �ेय िदया जा सकता है?
Options :
1.  काकतीय वंश
2.  कुतुब शाही राजवंश
3.  मुग़ल स�नत
4.  बहमनी स�नत
  
Question Number : 23 Question Id : 7532294069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Income tax is applicable on income above INR _________ Lakhs in India for Assessment Year 2021-22.
Options :
1.  2
2.  2.5
3.  3
4.  3.5
  
Question Number : 23 Question Id : 7532294069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आकलन वष� 2021-22 के िलए भारत म� INR _________ लाख से ऊपर की आय पर आयकर लागू है।
Options :
1.  2
2.  2.5
3.  3
4.  3.5
  



Question Number : 24 Question Id : 7532294070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The concept of Effective Revenue Deficit was introduced by which of the following committees?
Options :
1.  Rajiv Mehrishi Committee
2.  Rangarajan Committee
3.  G.V. Ramakrishna Committee
4.  Raja Chelliah Committee
  
Question Number : 24 Question Id : 7532294070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस सिमित �ारा �भावी राज� घाटा की अवधारणा पेश की गई थी?
Options :
1.  राजीव महिष� सिमित
2.  रंगराजन सिमित
3.  जी.वी. रामकृ� सिमित
4.  राजा चेिलया सिमित
  
Question Number : 25 Question Id : 7532294071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
One of the uses of centripetal/centrifugal force is to:
Options :
1.  Remove water from clothes in a washing machine
2.  To track earth's water and ice
3.  Create molecules out of atoms
4.  Slow down/stop cars
  
Question Number : 25 Question Id : 7532294071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
अिभके�ीय/अपके��य बल के उपयोगो ंम� से एक है:
Options :
1.  धुलाई मशीन म� कपड़ो ंसे पानी िनकालना
2.  पृ�ी के पानी और बफ़�  को ट� ैक करने के िलए
3.  परमाणुओ ंसे अणु बनाना
4.  कारो ंको धीमा/रोकना
  
Question Number : 26 Question Id : 7532294072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Application of increasing torque is seen in which of these:
Options :
1.  reducing the length of a lever
2.  placing door knob as far away from the hinge as possible
3.  placing a heavier pulley instead of a light one
4.  catching a ball
  
Question Number : 26 Question Id : 7532294072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
बढ़ते बलाघूण� का अनु�योग इनम� से िकसम� देखा जाता है:
Options :
1.  उ�ोलक की लंबाई कम करना
2.  दरवाजे के चूल को काज से यथासंभव दूर रखना
3.  एक ह�े के बजाय एक भारी िघरनी रखना
4.  ग�द पकड़ना
  
Question Number : 27 Question Id : 7532294073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Which of the following hormones plays a role in the body's threat/stress response?
Options :
1.  oxytocin
2.  melatonin
3.  cortisol
4.  glucagon
  
Question Number : 27 Question Id : 7532294073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन सा हाम�न शरीर के खतरे/तनाव �िति�या म� भूिमका िनभाता है?
Options :
1.  ऑ�ीटॉिसन
2.  मेलाटोिनन
3.  कोिट�सोल
4.  �ूकागॉन
  
Question Number : 28 Question Id : 7532294074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Yamuna does not pass through which of the following states?
Options :
1.  Uttar Pradesh
2.  Madhya Pradesh
3.  Uttarakhand
4.  Himachal Pradesh
  
Question Number : 28 Question Id : 7532294074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
यमुना िन�िल�खत म� से िकस रा� से नही ंगुजरती है?
Options :



1.  उ�र �देश
2.  म� �देश
3.  उ�राखंड
4.  िहमाचल �देश
  
Question Number : 29 Question Id : 7532294075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Barakar and Konar are tributaries of which river?
Options :
1.  Narmada
2.  Damodar
3.  Tapti
4.  Krishna
  
Question Number : 29 Question Id : 7532294075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
बराकर और कोनार िकस नदी की सहायक निदयाँ ह�?
Options :
1.  नम�दा
2.  दामोदर
3.  ता�ी
4.  कृ�ा
  
Question Number : 30 Question Id : 7532294076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The source of the Narmada river is located in the _________________ hills of Madhya Pradesh.
Options :
1.  Amarkantak



2.  Pachmarhi
3.  Shivpuri
4.  Tamiya
  
Question Number : 30 Question Id : 7532294076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नम�दा नदी का �ोत म� �देश की _________ पहािड़यो ंम� ��थत है।
Options :
1.  अमरकंटक
2.  पचमढ़ी
3.  िशवपुरी
4.  तिमया
  
Question Number : 31 Question Id : 7532294077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who was the founder of the Chola dynasty?
Options :
1.  Vijayalaya Chola
2.  Parantaka Chola
3.  Gandaraditya Chola
4.  Sundara Chola
  
Question Number : 31 Question Id : 7532294077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
चोल राजवंश का सं�थापक कौन था?
Options :
1.  िवजयालय चोल
2.  परा�क चोल



3.  गंडरािद� चोल
4.  संुदरा चोल
  
Question Number : 32 Question Id : 7532294078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Sridharacharya is recognised for his contributions to _____________.
Options :
1.  music
2.  medicine
3.  literature
4.  mathematics
  
Question Number : 32 Question Id : 7532294078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ीधराचाय� को _________ म� उनके योगदान के िलए पहचाना जाता है।
Options :
1.  संगीत
2.  आयुिव��ान
3.  सािह�
4.  गिणत
  
Question Number : 33 Question Id : 7532294079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Kamasutra was written by ________________.
Options :
1.  Varahamihira
2.  Vishakhadatta
3.  Vatsyayana



4.  Vishnu Sharma
  
Question Number : 33 Question Id : 7532294079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कामसू� _________ �ारा िलखा गया था।
Options :
1.  वराहिमिहर
2.  िवशाखद�
3.  वा�ायन
4.  िव�ु शमा�
  
Question Number : 34 Question Id : 7532294080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Ramalinga Raju can be associated with which of the following scams?
Options :
1.  2G Spectrum Scam
2.  Commonwealth Games Scam
3.  Satyam Scam
4.  Sahara Scam
  
Question Number : 34 Question Id : 7532294080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
रामिलंग राजू िन�िल�खत म� से िकस घोटाले से जुड़ा हो सकता है?
Options :
1.  2G �े��म घोटाला
2.  रा�� मंडल खेल घोटाला
3.  स�म घोटाला
4.  सहारा घोटाला



  
Question Number : 35 Question Id : 7532294081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following freedom fighters have been conferred with the title of "Shaheed-E-Azam"?
Options :
1.  Subhash Chandra Bose
2.  Bhagat Singh
3.  Chandra Shekhar Azad
4.  Ram Prasad Bismil
  
Question Number : 35 Question Id : 7532294081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस �तं�ता सेनानी को "शहीद-ए-आजम" की उपािध से स�ािनत िकया गया है?
Options :
1.  सुभाष चं� बोस
2.  भगत िसंह
3.  च� शेखर आज़ाद
4.  राम �साद िब��ल
  
Question Number : 36 Question Id : 7532294082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who among these intelligence agents was popularly known as "The Black Tiger"?
Options :
1.  Saraswathi Rajamani
2.  Kashmir Singh
3.  Mohanlal Bhaskar
4.  Ravindra Kaushik
  
Question Number : 36 Question Id : 7532294082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इन खुिफया एज�टो ंम� से कौन "द �ैक टाइगर" के नाम से लोकि�य था?
Options :
1.  सर�ती राजमिण
2.  क�ीर िसंह
3.  मोहनलाल भा�र
4.  रिव� कौिशक
  
Question Number : 37 Question Id : 7532294083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
When was the last time (as of August 2021) that a bill was passed successfully at a joint session of the Indian Parliament?
Options :
1.  The Jammu and Kashmir Reorganisation Bill, 2019
2.  Prevention of Terrorism Act, 2002
3.  Banking Service Commission Act (repeal), 1978
4.  Dowry Prohibition Act, 1961
  
Question Number : 37 Question Id : 7532294083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िपछली बार (अग� 2021 तक) भारतीय संसद के संयु� स� म� एक िवधेयक को सफलतापूव�क कब पा�रत िकया गया था?
Options :
1.  ज�ू और क�ीर पुनग�ठन िवधेयक, 2019
2.  आतंकवाद िनरोधी अिधिनयम, 2002
3.  ब��िकंग सेवा आयोग अिधिनयम (िनरसन), 1978
4.  दहेज िनषेध अिधिनयम, 1961
  
Question Number : 38 Question Id : 7532294084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following Articles deals with the improvement of public health under the Directive Principles of State Policy in the Indian
Constitution?
Options :
1.  Article 40
2.  Article 43
3.  Article 47
4.  Article 49
  
Question Number : 38 Question Id : 7532294084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन सा अनु�ेद भारतीय संिवधान म� रा� के नीित िनद�शक िस�ांतो ंके तहत साव�जिनक �ा� म� सुधार से संबंिधत है?
Options :
1.  अनु�ेद 40
2.  अनु�ेद 43
3.  अनु�ेद 47
4.  अनु�ेद 49
  
Question Number : 39 Question Id : 7532294085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Inbuan Wrestling originated in which state in India?
Options :
1.  Meghalaya
2.  Nagaland
3.  Mizoram
4.  Assam
  
Question Number : 39 Question Id : 7532294085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



इनबुआन कु�ी की शु�आत भारत के िकस रा� म� �ई थी?
Options :
1.  मेघालय
2.  नागाल�ड
3.  िमज़ोरम
4.  असम
  
Question Number : 40 Question Id : 7532294086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which among the following is not a form of Indian martial arts?
Options :
1.  Jallikattu
2.  Kuttu Varisai
3.  Pari-Khanda
4.  Thang-ta
  
Question Number : 40 Question Id : 7532294086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन भारतीय यु�कलाओ ंका एक �प नही ंहै?
Options :
1.  ज�ीकट्टू
2.  कुट्टू वा�रसाई
3.  परी-खंड
4.  थांग-टा
  
  

Arithmetic Ability
Group Number : 3
Group Id : 753229217



Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  
  

Arithmetic Ability
Section Id : 753229217
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229260
Question Shuffling Allowed : Yes
  
Question Number : 41 Question Id : 7532294087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What value should come in place of the question mark in the following question? 
0.02 × 0.1 + 0.03 × 0.2 + 0.1 × 0.03 =?
Options :
1.  0.011
2.  0.029
3.  0.29
4.  0.11
  



Question Number : 41 Question Id : 7532294087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म� ��वाचक िच� के �थान पर �ा मान आना चािहए?
0.02 × 0.1 + 0.03 × 0.2 + 0.1 × 0.03 =?
Options :
1.  0.011
2.  0.029
3.  0.29
4.  0.11
  
Question Number : 42 Question Id : 7532294088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is the smallest number which when divided by 54, 72 and 144 leaves a remainder of 7, 25 and 97 respectively?
Options :
1.  385
2.  365
3.  395
4.  415
  
Question Number : 42 Question Id : 7532294088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
वह सबसे छोटी सं�ा �ा है िजसे 54, 72 और 144 से िवभािजत करने पर �मशः  7, 25 और 97 शेषफल छोड़ती है?
Options :
1.  385
2.  365
3.  395
4.  415
  
Question Number : 43 Question Id : 7532294089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What value should come in place of question mark (?) in the following question?
17/2 ÷ 1/4 + 26/3 ÷ 1/3 = ? % of 80
Options :
1.  75
2.  60
3.  100
4.  65
  
Question Number : 43 Question Id : 7532294089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म� ��वाचक िच� (?) के �थान पर �ा मान आना चािहए?
17/2 ÷ 1/4 + 26/3 ÷ 1/3 = 80 का ? %
Options :
1.  75
2.  60
3.  100
4.  65
  
Question Number : 44 Question Id : 7532294090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is the second highest five digit number which is divisible by 15, 24, 36 and 40?
Options :
1.  99860
2.  98660
3.  99720
4.  99360
  
Question Number : 44 Question Id : 7532294090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
पांच अंकीय दूसरी सबसे बड़ी सं�ा कौन सी है जो 15, 24, 36 और 40 से िवभा� है?
Options :
1.  99860
2.  98660
3.  99720
4.  99360
  
Question Number : 45 Question Id : 7532294091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What value should come in place of question mark (?) in the following question?
0.3 × 2.2 + 0.33 × 0.75 - 0.055 × 0.5 = ?
Options :
1.  0.088
2.  0.08
3.  0.88
4.  8.08
  
Question Number : 45 Question Id : 7532294091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म� ��वाचक िच� (?) के �थान पर �ा मान आना चािहए?
0.3 × 2.2 + 0.33 × 0.75 - 0.055 × 0.5 = ?
Options :
1.  0.088
2.  0.08
3.  0.88
4.  8.08
  
Question Number : 46 Question Id : 7532294092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Average of 5 terms is 20.First term is one-fourth of all the remaining terms. Find the first term.
Options :
1.  20
2.  24
3.  25
4.  30
  
Question Number : 46 Question Id : 7532294092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
5 पदो ंका औसत 20 है। पहला पद शेष सभी पदो ंका एक चौथाई है। पहला पद �ात कर�।
Options :
1.  20
2.  24
3.  25
4.  30
  
Question Number : 47 Question Id : 7532294093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Aman has Rs. 144 more than Baman. Baman has 25% of the total amount that Chaman has. Chaman has a total of Rs. 1,500. What amount does
Aman has?
Options :
1.  Rs. 509
2.  Rs. 519
3.  Rs. 529
4.  Rs. 499
  
Question Number : 47 Question Id : 7532294093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
अमन के पास बमन से 144 �पए अिधक है। बमन के पास चमन की कुल रािश का 25% है। चमन के पास कुल 1,500 �पए है। अमन के पास िकतनी रािश है?
Options :
1.  509 �पए
2.  519 �पए
3.  529 �पए
4.  499 �पए
  
Question Number : 48 Question Id : 7532294094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A 30 litres mixture of water and alcohol contains 33.33% less water than alcohol. Find the quantity of water added in the mixture so that water
becomes 50% more than the alcohol.
Options :
1.  36 litres
2.  15 litres
3.  12 litres
4.  20 litres
  
Question Number : 48 Question Id : 7532294094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
पानी और अ�ोहल के 30 लीटर िम�ण म� अ�ोहल की तुलना म� 33.33% कम पानी है। िम�ण म� िमलाए गए पानी की मा�ा �ात कर�  तािक पानी अ�ोहल से
50% अिधक हो जाए।
Options :
1.  36 लीटर
2.  15 लीटर
3.  12 लीटर
4.  20 लीटर
  
Question Number : 49 Question Id : 7532294095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A shopkeeper marks the price of an article in such a way that after allowing 32% discount, he wants a gain of 25%. If the marked price is Rs.
200, then what is the cost price of the article?
Options :
1.  Rs. 100
2.  Rs. 108.8
3.  Rs. 120
4.  Rs. 118
  
Question Number : 49 Question Id : 7532294095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक दुकानदार एक व�ु का मू� इस �कार अंिकत करता है िक 32% छूट देने के बाद, वह 25% का लाभ चाहता है। यिद अंिकत मू� 200 �पए है, तो व�ु
का लागत मू� �ा है?
Options :
1.  100 �पए
2.  108.8 �पए
3.  120 �पए
4.  118 �पए
  
Question Number : 50 Question Id : 7532294096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The ratio of alcohol and water in a vessel is 11 : 4. If 21 litre of alcohol added in it ratio of alcohol to water becomes 10 : 3. Find the initial
quantity of mixture in the vessel.
Options :
1.  125 litre
2.  146 litre
3.  135 litre
4.  170 litre
  
Question Number : 50 Question Id : 7532294096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक बत�न म� अ�ोहल और पानी का अनुपात 11 : 4 है। यिद इसम� 21 लीटर अ�ोहल िमला िदया जाए तो अ�ोहल से पानी का अनुपात 10 : 3 हो जाता है।
बत�न म� िम�ण की �ारंिभक मा�ा �ात कर�।
Options :
1.  125 लीटर
2.  146 लीटर
3.  135 लीटर
4.  170 लीटर
  
Question Number : 51 Question Id : 7532294097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A sum of money is to be distributed among A, B, C and D in the ratio 6 : 13 : 19 : 21 respectively. If B and D together got Rs. 1800 more than A
and C together, then find the total amount of money which was distributed.
Options :
1.  Rs. 11200
2.  Rs. 14600
3.  Rs. 11800
4.  Rs. 14200
  
Question Number : 51 Question Id : 7532294097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक रािश को A, B, C और D के बीच �मशः  6 : 13 : 19 : 21 के अनुपात म� िवत�रत िकया जाना है। यिद B और D को एक साथ A और C का एक साथ से
1800 �पए अिधक िमलते है, तो िवत�रत की गई कुल रािश �ात कर�।
Options :
1.  11200 �पए
2.  14600 �पए
3.  11800 �पए
4.  14200 �पए
  



Question Number : 52 Question Id : 7532294098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The difference between the compound Interest and the simple interest on a certain sum for 2 years at 16% is Rs 128. Find the sum.
Options :
1.  Rs. 4000
2.  Rs. 5000
3.  Rs. 6000
4.  Rs. 3000
  
Question Number : 52 Question Id : 7532294098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक िनि�त रािश पर 2 वष� के िलए 16% की दर से च�वृ�� �ाज और साधारण �ाज के बीच का अंतर 128 �पए है। रािश �ात कर�।
Options :
1.  4000 �पए
2.  5000 �पए
3.  6000 �पए
4.  3000 �पए
  
Question Number : 53 Question Id : 7532294099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A 240 meters long train crosses a platform which is twice its length in 5 minutes. What is the speed of the train?
Options :
1.  2.2 m/s
2.  22 m/s
3.  2.4 m/s
4.  24 m/s
  
Question Number : 53 Question Id : 7532294099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
एक 240 मीटर लंबी रेलगाड़ी 5 िमनट म� अपनी लंबाई के दो गुना �ेटफॉम� को पार करती है। रेलगाड़ी की गित �ा है?
Options :
1.  2.2 m/s
2.  22 m/s
3.  2.4 m/s
4.  24 m/s
  
Question Number : 54 Question Id : 7532294100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A boat covers a distance in upstream which is 12.5% of distance in downstream in same time. If difference between speed of boat in still water
and speed of current is 2 km/hr. Find the speed of current.
Options :
1.  16 km/hr
2.  9 km/hr
3.  7 km/hr
4.  8 km/hr
  
Question Number : 54 Question Id : 7532294100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक नाव ऊ���वाह एक दूरी तय करती है जो समान समय म� अनु�वाह का 12.5%   है। यिद ��थर जल म� नाव की गित और धारा की गित के बीच का अंतर 2
km/hr है। धारा की गित �ात कर�।
Options :
1.  16 km/hr
2.  9 km/hr
3.  7 km/hr
4.  8 km/hr
  
Question Number : 55 Question Id : 7532294101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Pipe P can fill the tank in 12 hours, pipe Q can fill the tank in 6 hours and Pipe D is an outlet pipe. If all the pipes are opened simultaneously then
the tank will be full in 20/3 hours. Find how much time pipe D will take to empty the full tank.
Options :
1.  5 hours
2.  10 hours
3.  20 hours
4.  25 hours
  
Question Number : 55 Question Id : 7532294101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
पाइप P टंकी को 12 घंटे म� भर सकता है, पाइप Q टंकी को 6 घंटे म� भर सकता है और पाइप D एक आउटलेट पाइप है। यिद सभी पाइपो ंको एक साथ खोल
िदया जाए तो टंकी 20/3 घंटे म� भर जाएगी। �ात कर�  िक पाइप D भरी �ई पूरी टंकी को खाली करने म� िकतना समय लेगी।
Options :
1.  5 घंटे
2.  10 घंटे
3.  20 घंटे
4.  25 घंटे
  
Question Number : 56 Question Id : 7532294102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The perimeter of a rectangle is equal to the perimeter of a square and the side of the square is equal to the breadth of the rectangle. Find the ratio
of the length of rectangle to the side of the square.
Options :
1.  3:1
2.  1:3
3.  2:1
4.  1:1
  
Question Number : 56 Question Id : 7532294102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक आयत का प�रमाप एक वग� के प�रमाप के बराबर है और वग� की भुजा आयत की चौड़ाई के बराबर होती है। आयत की लंबाई का वग� की भुजा से अनुपात
�ात कर�।
Options :
1.  3:1
2.  1:3
3.  2:1
4.  1:1
  
Question Number : 57 Question Id : 7532294103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A square of area 169 sq cm is formed from a wire of certain length. A rectangle is formed from the same wire. What will be the length of
rectangle if breadth of rectangle is 60% of its length?
Options :
1.  15.25 cm
2.  17.75 cm
3.  16.25 cm
4.  14.75 cm
  
Question Number : 57 Question Id : 7532294103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक िनि�त लंबाई के तार से 169 sq cm �े�फल का एक वग� बनाया गया है। उसी तार से एक आयत बनाया गया है। आयत की लंबाई �ा होगी यिद आयत की
चौड़ाई उसकी लंबाई का 60% है?
Options :
1.  15.25 cm
2.  17.75 cm
3.  16.25 cm
4.  14.75 cm
  



Question Number : 58 Question Id : 7532294104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The table below shows number of people staying in 6 different cities and the percentage of men, women and children in those cities.
Which city has the lowest number of children?

Options :
1.  P
2.  S
3.  T
4.  Q
  
Question Number : 58 Question Id : 7532294104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नीचे दी गई तािलका 6 अलग-अलग शहरो ंम� रहने वाले लोगो ंकी सं�ा और उन शहरो ंम� पु�षो,ं मिहलाओ ंऔर ब�ो ंके �ितशत को दशा�ती है।
िकस शहर म� सबसे कम ब�े ह�?



Options :
1.  P
2.  S
3.  T
4.  Q
  
Question Number : 59 Question Id : 7532294105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Bar graph given below shows the number of students (in hundreds) from two different schools who qualified in an exam in six different
years (from year 2005 to 2010).
What was the respective ratio between the number of students who qualified in the exam from School-P in year 2005 to the number of students
who qualified in the exam from School-Q in year 2008?

Options :



1.  13:18
2.  17:18
3.  17:19
4.  13:19
  
Question Number : 59 Question Id : 7532294105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नीचे िदया गया बार �ाफ दो िविभ� िव�ालयो ंके छा�ो ं(सैकड़ो ंम�) को दशा�ता है, िज�ों�ने छह अलग-अलग वष� (वष� 2005 से 2010 तक) म� एक परी�ा म�
उ�ीण� �ए है।
वष� 2005 म� िव�ालय-P से परी�ा उ�ीण� करने वाले छा�ो ंकी सं�ा का वष� 2008 म� िव�ालय-Q से परी�ा उ�ीण� करने वाले छा�ो ंकी सं�ा के बीच संबंिधत
अनुपात िकतना था?

Options :
1.  13:18
2.  17:18
3.  17:19
4.  13:19
  
Question Number : 60 Question Id : 7532294106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the line graph data is given about obtained percentage(%) of marks of three students A, B and C in the different subject.



If full marks in Hindi and English is 200 and 150 respectively, then what is respective ratio of total obtained marks of all three in these subjects?

Options :
1.  141:172
2.  172:141
3.  152:133
4.  133:152
  
Question Number : 60 Question Id : 7532294106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
रेखा �ाफ म� िविभ� िवषय म� तीन छा�ो ंA, B, और C के �ा� �ितशत (%) के बारे म� डेटा िदया गया है।
यिद िहंदी और अं�ेजी म� पूण� अंक �मशः  200 और 150 ह�, तो इन तीनो ंिवषयो ंम� �ा� कुल अंको ंका �मशः  अनुपात �ा है?



Options :
1.  141:172
2.  172:141
3.  152:133
4.  133:152
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Question Number : 61 Question Id : 7532294107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

But although the waters may have receded,/ the aftermath of one of the world's biggest/ natural disaster had only just begun.
Options :
1.  But although the waters may have receded,
2.  the aftermath of one of the world's biggest
3.  natural disaster had only just begun.
4.  No Error
  
Question Number : 61 Question Id : 7532294107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

But although the waters may have receded,/ the aftermath of one of the world's biggest/ natural disaster had only just begun.
Options :
1.  But although the waters may have receded,



2.  the aftermath of one of the world's biggest
3.  natural disaster had only just begun.
4.  No Error
  
Question Number : 62 Question Id : 7532294108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The Mount Augustus, claimed/ to have the world's largest monolith,/ is located in Western Australia.
Options :
1.  The Mount Augustus, claimed
2.  to have the world's largest monolith,
3.  is located in Western Australia.
4.  No Error
  
Question Number : 62 Question Id : 7532294108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The Mount Augustus, claimed/ to have the world's largest monolith,/ is located in Western Australia.
Options :
1.  The Mount Augustus, claimed
2.  to have the world's largest monolith,
3.  is located in Western Australia.
4.  No Error
  
Question Number : 63 Question Id : 7532294109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In his memory, (Sarah said that, "Grandpa would have been 88 if he was) with us today."
Options :
1.  Sarah said, "Grandpa would have been 88 if he was
2.  Sarah said, "Grandpa would have been 88 if he were
3.  Sarah said that, "Grandpa would have been 88 if he were
4.  No correction required
  
Question Number : 63 Question Id : 7532294109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In his memory, (Sarah said that, "Grandpa would have been 88 if he was) with us today."
Options :
1.  Sarah said, "Grandpa would have been 88 if he was
2.  Sarah said, "Grandpa would have been 88 if he were
3.  Sarah said that, "Grandpa would have been 88 if he were
4.  No correction required
  
Question Number : 64 Question Id : 7532294110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Neither of the superpowers have had much) interest in ideological purity.
Options :
1.  Neither of the superpower has had much
2.  Neither of the superpowers have had any
3.  Neither of the superpowers has had much



4.  No correction required
  
Question Number : 64 Question Id : 7532294110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Neither of the superpowers have had much) interest in ideological purity.
Options :
1.  Neither of the superpower has had much
2.  Neither of the superpowers have had any
3.  Neither of the superpowers has had much
4.  No correction required
  
Question Number : 65 Question Id : 7532294111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Never seeking to over-elaborate on the emotion, Polanski chooses to keep things fundamentally _______________.
Options :
1.  articulate
2.  astonished
3.  audacious
4.  austere
  
Question Number : 65 Question Id : 7532294111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Never seeking to over-elaborate on the emotion, Polanski chooses to keep things fundamentally _______________.
Options :



1.  articulate
2.  astonished
3.  audacious
4.  austere
  
Question Number : 66 Question Id : 7532294112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

But does not the past __________ those of us who are Preachers and Teachers?
Options :
1.  abate
2.  adulterate
3.  admonish
4.  aggrandize
  
Question Number : 66 Question Id : 7532294112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

But does not the past __________ those of us who are Preachers and Teachers?
Options :
1.  abate
2.  adulterate
3.  admonish
4.  aggrandize
  
Question Number : 67 Question Id : 7532294113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts



can be rearranged to form a meaningful and grammatically correct sentence.

He was about to

P. a maiden named Luscinda,

Q. childhood and who returned

R. become engaged to

S. whom he had loved since

his feelings in kind.
Options :
1.  RPSQ
2.  RQSP
3.  RQPS
4.  RSPQ
  
Question Number : 67 Question Id : 7532294113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

He was about to

P. a maiden named Luscinda,

Q. childhood and who returned

R. become engaged to

S. whom he had loved since

his feelings in kind.
Options :



1.  RPSQ
2.  RQSP
3.  RQPS
4.  RSPQ
  
Question Number : 68 Question Id : 7532294114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The name Troy refers both to a place in legend and a real-life archaeological site.

P. In legend, Troy is a city that was besieged for 10 years and eventually conquered by a Greek army led by King Agamemnon.

Q. The reason for this "Trojan War" was, according to Homer's "Iliad," the abduction of Helen, a queen from Sparta.

R. This abduction was done by Paris, the son of Troy's King Priam.

S. Throughout the "Iliad" the gods constantly intervene in support of characters on both sides of the conflict.

The Trojan War is thought to have taken place near the end of the Bronze Age.
Options :
1.  SRQP
2.  PQRS
3.  RQPS
4.  SPQR
  
Question Number : 68 Question Id : 7532294114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The name Troy refers both to a place in legend and a real-life archaeological site.



P. In legend, Troy is a city that was besieged for 10 years and eventually conquered by a Greek army led by King Agamemnon.

Q. The reason for this "Trojan War" was, according to Homer's "Iliad," the abduction of Helen, a queen from Sparta.

R. This abduction was done by Paris, the son of Troy's King Priam.

S. Throughout the "Iliad" the gods constantly intervene in support of characters on both sides of the conflict.

The Trojan War is thought to have taken place near the end of the Bronze Age.
Options :
1.  SRQP
2.  PQRS
3.  RQPS
4.  SPQR
  
Question Number : 69 Question Id : 7532294115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

pragmatic
Options :
1.  efficient
2.  logical
3.  excited
4.  realistic
  
Question Number : 69 Question Id : 7532294115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

pragmatic
Options :
1.  efficient



2.  logical
3.  excited
4.  realistic
  
Question Number : 70 Question Id : 7532294116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

solicitous
Options :
1.  agitated
2.  attentive
3.  unafraid
4.  heedless
  
Question Number : 70 Question Id : 7532294116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

solicitous
Options :
1.  agitated
2.  attentive
3.  unafraid
4.  heedless
  
Question Number : 71 Question Id : 7532294117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1.  lineriety
2.  linareity
3.  linearity
4.  linaerity
  
Question Number : 71 Question Id : 7532294117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :
1.  lineriety
2.  linareity
3.  linearity
4.  linaerity
  
Question Number : 72 Question Id : 7532294118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :
1.  invulnerable
2.  innocuous
3.  inimical
4.  ingenous
  
Question Number : 72 Question Id : 7532294118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :
1.  invulnerable
2.  innocuous



3.  inimical
4.  ingenous
  
Question Number : 73 Question Id : 7532294119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

An arm and a leg
Options :
1.  Willing to do something immediately
2.  At the service
3.  Very expensive; A large amount of money
4.  In a backward and forward motion
  
Question Number : 73 Question Id : 7532294119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

An arm and a leg
Options :
1.  Willing to do something immediately
2.  At the service
3.  Very expensive; A large amount of money
4.  In a backward and forward motion
  
Question Number : 74 Question Id : 7532294120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning

One who was previously unknown and is now prominent



Options :
1.  Hit below the belt
2.  Dark horse
3.  Get your walking papers
4.  Ivory tower
  
Question Number : 74 Question Id : 7532294120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning

One who was previously unknown and is now prominent
Options :
1.  Hit below the belt
2.  Dark horse
3.  Get your walking papers
4.  Ivory tower
  
Question Number : 75 Question Id : 7532294121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

One who is not sure about God's existence
Options :
1.  Adjure
2.  Anarchist
3.  Agnostic
4.  Cardigan
  
Question Number : 75 Question Id : 7532294121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate 'one word ' for the expressions given below

One who is not sure about God's existence
Options :
1.  Adjure
2.  Anarchist
3.  Agnostic
4.  Cardigan
Sub-Section Number : 2
Sub-Section Id : 753229262
Question Shuffling Allowed : Yes
  
Question Id : 7532294122 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)
A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

When he died on November 27,1953, Gladstone O'Neill was universally recognized as one of the major dramatists of the modern world. Four
times a Pulitzer Prize-winner, he had also been awarded the 1936 Nobel Prize for Literature. His plays have been translated into most major
languages and read by more people than those of any other playwright except W. Shakespeare and maybe G. Barnard Shaw. O'Neill was a puzzle
to his friends - a genuinely shy, brooding, complicated man in whom cruelty alternated with touching kindness. He was both naive and worldly.
One biographer found him "sentimental one instant, hard as nails the next." His widow, after 26 years with O'Neill, said, "To understand his work
you must understand the man, for the work and the man are one."
Sub questions
 
Question Number : 76 Question Id : 7532294123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following attributes would you not associate with Gladstone?
Options :
1.  Shy
2.  Cruel
3.  Naïve
4.  Simple



 
Question Number : 77 Question Id : 7532294124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What kind of plays was O'Neill known for?
Options :
1.  Political Theatre
2.  Melodrama
3.  Drama
4.  Comedy
 
Question Number : 78 Question Id : 7532294125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In which year did O'Neill win the Nobel Prize for Literature?
Options :
1.  1936
2.  1953
3.  1944
4.  1912
 
Question Number : 79 Question Id : 7532294126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.
Options :
1.  O'Neill's wife believed that anyone wanting to understand him should just understand his work.
2.  Gladstone won the Pulitzer in 1936.
3.  Gladstone is regarded as one of the worlds greatest dramatists of the modern era.
4.  Gladstone's plays are widely renowned in the world.
 
Question Number : 80 Question Id : 7532294127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
It is stated in the passage that O'Neill ______.
Options :
1.  is the greatest playwriter of the modern era
2.  s plays are among the world's most read and translated plays
3.  was a very simple man with a kind heart
4.  won the Pulitzer Prize 4 times for Literature.
  
Question Id : 7532294122 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)
A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

When he died on November 27,1953, Gladstone O'Neill was universally recognized as one of the major dramatists of the modern world. Four
times a Pulitzer Prize-winner, he had also been awarded the 1936 Nobel Prize for Literature. His plays have been translated into most major
languages and read by more people than those of any other playwright except W. Shakespeare and maybe G. Barnard Shaw. O'Neill was a puzzle
to his friends - a genuinely shy, brooding, complicated man in whom cruelty alternated with touching kindness. He was both naive and worldly.
One biographer found him "sentimental one instant, hard as nails the next." His widow, after 26 years with O'Neill, said, "To understand his work
you must understand the man, for the work and the man are one."
Sub questions
 
Question Number : 76 Question Id : 7532294123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following attributes would you not associate with Gladstone?
Options :
1.  Shy
2.  Cruel
3.  Naïve
4.  Simple
 
Question Number : 77 Question Id : 7532294124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What kind of plays was O'Neill known for?
Options :
1.  Political Theatre
2.  Melodrama
3.  Drama
4.  Comedy
 
Question Number : 78 Question Id : 7532294125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In which year did O'Neill win the Nobel Prize for Literature?
Options :
1.  1936
2.  1953
3.  1944
4.  1912
 
Question Number : 79 Question Id : 7532294126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.
Options :
1.  O'Neill's wife believed that anyone wanting to understand him should just understand his work.
2.  Gladstone won the Pulitzer in 1936.
3.  Gladstone is regarded as one of the worlds greatest dramatists of the modern era.
4.  Gladstone's plays are widely renowned in the world.
 
Question Number : 80 Question Id : 7532294127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
It is stated in the passage that O'Neill ______.
Options :



1.  is the greatest playwriter of the modern era
2.  s plays are among the world's most read and translated plays
3.  was a very simple man with a kind heart
4.  won the Pulitzer Prize 4 times for Literature.
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Question Number : 81 Question Id : 7532294128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� के सही संिध िव�ेद का िवक� हो।
��ालु 
Options :
1.  ��ा + लू
2.  �� + आलु
3.  ��ा + आलु
4.  ��ा + अलु
  
Question Number : 81 Question Id : 7532294128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� के सही संिध िव�ेद का िवक� हो।
��ालु 
Options :
1.  ��ा + लू
2.  �� + आलु
3.  ��ा + आलु
4.  ��ा + अलु
  
Question Number : 82 Question Id : 7532294129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� के िलए सही त�ु�ष समास के िव�ह का िवक� हो।
�ामगत
Options :
1.  �ाम से स�ंिधत
2.  �ाम को गया �आ
3.  �ाम का ���
4.  �ाम और गत



  
Question Number : 82 Question Id : 7532294129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� के िलए सही त�ु�ष समास के िव�ह का िवक� हो।
�ामगत
Options :
1.  �ाम से स�ंिधत
2.  �ाम को गया �आ
3.  �ाम का ���
4.  �ाम और गत
  
Question Number : 83 Question Id : 7532294130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो उपसग� से बने श� का सही िवक� नही ंहो।
Options :
1.  भरती
2.  सचेत
3.  िनराश
4.  उजड़ा
  
Question Number : 83 Question Id : 7532294130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो उपसग� से बने श� का सही िवक� नही ंहो।
Options :
1.  भरती
2.  सचेत
3.  िनराश
4.  उजड़ा



  
Question Number : 84 Question Id : 7532294131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� के पया�यवाची श� का सही िवक� नही ंहै ।
िहरण
Options :
1.  कुरंग
2.  गयंद
3.  मृग
4.  सारंग
  
Question Number : 84 Question Id : 7532294131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� के पया�यवाची श� का सही िवक� नही ंहै ।
िहरण
Options :
1.  कुरंग
2.  गयंद
3.  मृग
4.  सारंग
  
Question Number : 85 Question Id : 7532294132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िवलोम श� का सबसे अ�ा िवक� है। 

कंटक
Options :
1.  �े�
2.  सपूत



3.  पु�
4.  �थूल
  
Question Number : 85 Question Id : 7532294132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िवलोम श� का सबसे अ�ा िवक� है। 

कंटक
Options :
1.  �े�
2.  सपूत
3.  पु�
4.  �थूल
  
Question Number : 86 Question Id : 7532294133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस सही िवक� का चयन कर�  जो वा�ांशो ंके िलए एक श� का िवक� हो।
िक�ी ंघटनाओ ंका काल�म से िकया गया वृत
Options :
1.  अ�ास
2.  आ�ह
3.  आविधक
4.  इितवृत
  
Question Number : 86 Question Id : 7532294133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस सही िवक� का चयन कर�  जो वा�ांशो ंके िलए एक श� का िवक� हो।
िक�ी ंघटनाओ ंका काल�म से िकया गया वृत
Options :



1.  अ�ास
2.  आ�ह
3.  आविधक
4.  इितवृत
  
Question Number : 87 Question Id : 7532294134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस सही िवक� का चयन कर�  जो �र� �थान के िलए उपयु� श� का सही िवक� है ।
मनु� के जीवन म� ल� का होना ब�त ______________ है।
Options :
1.  अनाव�क
2.  किठन
3.  आव�क
4.  िनराकार
  
Question Number : 87 Question Id : 7532294134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस सही िवक� का चयन कर�  जो �र� �थान के िलए उपयु� श� का सही िवक� है ।
मनु� के जीवन म� ल� का होना ब�त ______________ है।
Options :
1.  अनाव�क
2.  किठन
3.  आव�क
4.  िनराकार
  
Question Number : 88 Question Id : 7532294135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो पु��ंग �प वाला िवक� है।



Options :
1.  गद�न
2.  चावल
3.  एकादशी
4.  नम�दा
  
Question Number : 88 Question Id : 7532294135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो पु��ंग �प वाला िवक� है।
Options :
1.  गद�न
2.  चावल
3.  एकादशी
4.  नम�दा
  
Question Number : 89 Question Id : 7532294136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� के ब�वचन �प का सबसे अ�ा िवक� है।
िकताब
Options :
1.  िकताब�
2.  िकताब
3.  िकताबएँ
4.  िकताबो
  
Question Number : 89 Question Id : 7532294136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� के ब�वचन �प का सबसे अ�ा िवक� है।



िकताब
Options :
1.  िकताब�
2.  िकताब
3.  िकताबएँ
4.  िकताबो
  
Question Number : 90 Question Id : 7532294137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो म�म पु�ष वाचक सव�नाम श� का सबसे अ�ा िवक� है। 
Options :
1.  तुमको
2.  म��ने
3.  हम�
4.  उनको
  
Question Number : 90 Question Id : 7532294137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो म�म पु�ष वाचक सव�नाम श� का सबसे अ�ा िवक� है। 
Options :
1.  तुमको
2.  म��ने
3.  हम�
4.  उनको
  
Question Number : 91 Question Id : 7532294138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श�-यु� के अथ� का सबसे अ�ा िवक� है।



पूर-पुर 
Options :
1.  बगल-नगर
2.  आिध�-नगर
3.  आिध�-सश�
4.  सश�-नगर
  
Question Number : 91 Question Id : 7532294138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श�-यु� के अथ� का सबसे अ�ा िवक� है।
पूर-पुर 
Options :
1.  बगल-नगर
2.  आिध�-नगर
3.  आिध�-सश�
4.  सश�-नगर
  
Question Number : 92 Question Id : 7532294139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िवराम िच� यु� वा� का सही िवक� हो।
Options :
1.  िपता ने पु� से कहा-“देर हो रही है, कब आओगे|”
2.  िपता ने पु� से कहा-“देर हो रही है, कब आओगे”
3.  िपता ने पु� से कहा-“देर हो रही है, कब आओगे?”
4.  िपता ने पु� से कहा-देर हो रही है, कब आओगे?
  
Question Number : 92 Question Id : 7532294139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िवराम िच� यु� वा� का सही िवक� हो।
Options :
1.  िपता ने पु� से कहा-“देर हो रही है, कब आओगे|”
2.  िपता ने पु� से कहा-“देर हो रही है, कब आओगे”
3.  िपता ने पु� से कहा-“देर हो रही है, कब आओगे?”
4.  िपता ने पु� से कहा-देर हो रही है, कब आओगे?
  
Question Number : 93 Question Id : 7532294140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए लोको�� का सही अथ� वाला िवक� है।
अपनी करनी पार उतरनी
Options :
1.  अयो� ��� को प�र�म के िबना सब िमलना
2.  काय� का अंितम चरण मह�पूण� होता है
3.  ओछा आदमी अिधक इतराता है
4.  �यं का प�र�म ही काम आता है
  
Question Number : 93 Question Id : 7532294140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए लोको�� का सही अथ� वाला िवक� है।
अपनी करनी पार उतरनी
Options :
1.  अयो� ��� को प�र�म के िबना सब िमलना
2.  काय� का अंितम चरण मह�पूण� होता है
3.  ओछा आदमी अिधक इतराता है
4.  �यं का प�र�म ही काम आता है
  
Question Number : 94 Question Id : 7532294141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो दी गई मुहावरे का सही अथ� वाला िवक� है।
तीन-तेरह करना
Options :
1.  बेचैन होना
2.  वादे से मुकरना
3.  िततर-िबतर करना
4.  �ाग देना
  
Question Number : 94 Question Id : 7532294141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो दी गई मुहावरे का सही अथ� वाला िवक� है।
तीन-तेरह करना
Options :
1.  बेचैन होना
2.  वादे से मुकरना
3.  िततर-िबतर करना
4.  �ाग देना
  
Question Number : 95 Question Id : 7532294142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो दी गई मुहावरे का सही अथ� वाला िवक� है।
तूती बोलना
Options :
1.  झठूा िदखावा करना
2.  खूब �भाव होना
3.  खुशामद करना
4.  घबरा जाना
  



Question Number : 95 Question Id : 7532294142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो दी गई मुहावरे का सही अथ� वाला िवक� है।
तूती बोलना
Options :
1.  झठूा िदखावा करना
2.  खूब �भाव होना
3.  खुशामद करना
4.  घबरा जाना
Sub-Section Number : 2
Sub-Section Id : 753229264
Question Shuffling Allowed : Yes
  
Question Id : 7532294143 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)
नीचे िदए गये ग�ांश के बाद 5 �� िदए गये ह�। इस ग�ांश को �ानपूव�क पढ़�  और चार िवक�ो ंम� से ��ेक �� का सव��म उ�र चुन�। 
सुख िव�ास से उ�� होता है। सुख जड़ता से भी उ�� होता है। पुराने जमाने के लोग सुखी इसिलए थे िक ई�र की स�ा म� उ�� िव�ास था। उस जमाने के नमूने
आज भी ह�, मगर वे महानगरो ंम� कम िमलते ह�। उनका जमघट गाँवो,ं क�ो ंया छोटे-छोटे नगरो ंम� है। इनके ब�त अिधक असंतु� न होने का कारण यह है िक
जो चीज़ उनके बस म� नही ंहै, उसे वे अ�� की इ�ा पर छोड़कर िनि�त हो जाते ह�। इसी �कार सुखी वे लोग भी होते ह�, जो स�े अथ� म� जड़तावादी ह�,
�ों�िक उनकी आ�ा पर कठखोदी िचिड़या चोचं नही ंमारा करती, िकंतु जो न जड़ता को �ीकार करता है, न ई�र के अ��� को तथा जो पूरे मन से न तो
जड़ता का �ाग करता है और न ई�र के अ��� का, असली वेदना उसी संदेहवादी मनु� की वेदना है। पि�म का आधुिनक बोध इसी पीड़ा से �� है। इस
अभागे मनु� के हाथ म� न तो लोक रह गया है, न परलोक।
Sub questions
 
Question Number : 96 Question Id : 7532294144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अनु�ेद के अनुसार सुख िकनसे उ�� होता है?
Options :
1.  आ�ा
2.  असंतु�



3.  गाँवों
4.  िव�ास
 
Question Number : 97 Question Id : 7532294145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
गाँवो ंम� लोग �ा अ�� की इ�ा पर छोड़कर िनि�त हो जाते ह�?
Options :
1.  जो उनके बस म� है
2.  जो ब�त कीमती है
3.  जो उनके बस म� नही ं
4.  जो कुछ िदखाई देता है
 
Question Number : 98 Question Id : 7532294146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
पि�म का आधुिनक बोध िकससे पीिड़त है?
Options :
1.  संदेहवादी �ि� से
2.  अ���वाद से
3.  आ�िव�ास से
4.  अ�� श�� से
 
Question Number : 99 Question Id : 7532294147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इनम� से कौन-सा वेदना का समानाथ� श� नही ंहै?
Options :
1.  िवषाद
2.  िवपदा
3.  यातना
4.  हष�



 
Question Number : 100 Question Id : 7532294148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस अनु�ेद का कोई उपयु� शीष�क-
Options :
1.  पि�म का आधुिनक बोध
2.  ई�र का अ���
3.  सुख का रह�
4.  जड़तावादी
  
Question Id : 7532294143 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)
नीचे िदए गये ग�ांश के बाद 5 �� िदए गये ह�। इस ग�ांश को �ानपूव�क पढ़�  और चार िवक�ो ंम� से ��ेक �� का सव��म उ�र चुन�। 
सुख िव�ास से उ�� होता है। सुख जड़ता से भी उ�� होता है। पुराने जमाने के लोग सुखी इसिलए थे िक ई�र की स�ा म� उ�� िव�ास था। उस जमाने के नमूने
आज भी ह�, मगर वे महानगरो ंम� कम िमलते ह�। उनका जमघट गाँवो,ं क�ो ंया छोटे-छोटे नगरो ंम� है। इनके ब�त अिधक असंतु� न होने का कारण यह है िक
जो चीज़ उनके बस म� नही ंहै, उसे वे अ�� की इ�ा पर छोड़कर िनि�त हो जाते ह�। इसी �कार सुखी वे लोग भी होते ह�, जो स�े अथ� म� जड़तावादी ह�,
�ों�िक उनकी आ�ा पर कठखोदी िचिड़या चोचं नही ंमारा करती, िकंतु जो न जड़ता को �ीकार करता है, न ई�र के अ��� को तथा जो पूरे मन से न तो
जड़ता का �ाग करता है और न ई�र के अ��� का, असली वेदना उसी संदेहवादी मनु� की वेदना है। पि�म का आधुिनक बोध इसी पीड़ा से �� है। इस
अभागे मनु� के हाथ म� न तो लोक रह गया है, न परलोक।
Sub questions
 
Question Number : 96 Question Id : 7532294144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अनु�ेद के अनुसार सुख िकनसे उ�� होता है?
Options :
1.  आ�ा
2.  असंतु�
3.  गाँवों
4.  िव�ास



 
Question Number : 97 Question Id : 7532294145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
गाँवो ंम� लोग �ा अ�� की इ�ा पर छोड़कर िनि�त हो जाते ह�?
Options :
1.  जो उनके बस म� है
2.  जो ब�त कीमती है
3.  जो उनके बस म� नही ं
4.  जो कुछ िदखाई देता है
 
Question Number : 98 Question Id : 7532294146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
पि�म का आधुिनक बोध िकससे पीिड़त है?
Options :
1.  संदेहवादी �ि� से
2.  अ���वाद से
3.  आ�िव�ास से
4.  अ�� श�� से
 
Question Number : 99 Question Id : 7532294147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इनम� से कौन-सा वेदना का समानाथ� श� नही ंहै?
Options :
1.  िवषाद
2.  िवपदा
3.  यातना
4.  हष�
 
Question Number : 100 Question Id : 7532294148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस अनु�ेद का कोई उपयु� शीष�क-
Options :
1.  पि�म का आधुिनक बोध
2.  ई�र का अ���
3.  सुख का रह�
4.  जड़तावादी
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Question Shuffling Allowed : Yes
  
Question Number : 101 Question Id : 7532294149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What age span lie in early child hood care and education in the Indian context?
Options :
1.  1-5 Years
2.  Birth to 08 years
3.  Birth to 02 years
4.  Birth to 05 years
  
Question Number : 101 Question Id : 7532294149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय संदभ� म� आरंिभक बा�ाव�था देखभाल और िश�ा म� कौन-सी आयु अविध िनिहत है?
Options :
1.  1-5 वष�
2.  ज� से 08 वष�
3.  ज� से 02 वष�
4.  ज� से 05 वष�
  
Question Number : 102 Question Id : 7532294150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which policy recommended policy frame work of ECCE in India
Options :
1.  New Education Policy, 1968
2.  National Education Policy, 1979
3.  National Education Policy, 1986
4.  National Education Commission 1964-66



  
Question Number : 102 Question Id : 7532294150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत म� ECCE के नीितगत �परेखा की अनुशंसा िकस नीित ने की?
Options :
1.  नई िश�ा नीित, 1968
2.  रा�� ीय िश�ा नीित, 1979
3.  रा�� ीय िश�ा नीित, 1986
4.  रा�� ीय िश�ा आयोग, 1964-66
  
Question Number : 103 Question Id : 7532294151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which article of Indian constitution directs the states for free and compulsory education?
Options :
1.  Article 45
2.  Article 46
3.  Article 47
4.  Article 48
  
Question Number : 103 Question Id : 7532294151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय संिवधान का कौन-सा अनु�ेद रा�ो ंको िनः शु� और अिनवाय� िश�ा का िनद�श देता है?
Options :
1.  अनु�ेद 45
2.  अनु�ेद 46
3.  अनु�ेद 47
4.  अनु�ेद 48
  



Question Number : 104 Question Id : 7532294152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
“The state shall endeavor to provide early childhood care and education, for all children until they complete the age of six years.” Which Indian
constitutional amendment is concerned with this statement?
Options :
1.  86th
2.  73rd
3.  81st
4.  82nd
  
Question Number : 104 Question Id : 7532294152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"रा� सभी ब�ो ंको छह वष� की आयु पूरी करने तक आरंिभक बा�ाव�था देखभाल और िश�ा उपल� कराने का �य� करेगा।" इस कथन से िकस भारतीय
संिवधान संशोधन का संबंध है?
Options :
1.  86व�
2.  73व�
3.  81व�
4.  82व�
  
Question Number : 105 Question Id : 7532294153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which central board constituted “Child Welfare committee”?
Options :
1.  Central Board of Secondary Education (CBSE)
2.  Central Social Welfare Board (CSWB)
3.  Central Education Board (CEB)
4.  Central Education Advisory Board (CEAB)
  



Question Number : 105 Question Id : 7532294153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकस क� �ीय बोड� ने "बाल क�ाण सिमित" का गठन िकया?
Options :
1.  क� �ीय मा�िमक िश�ा बोड� (CBSE)
2.  क� �ीय समाज क�ाण बोड� (CSWB)
3.  क� �ीय िश�ा बोड� (CEB)
4.  क� �ीय िश�ा सलाहकार बोड� (CEAB)
  
Question Number : 106 Question Id : 7532294154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
When was “Integrated Child Development Services” (ICDS) launched by Government of India?
Options :
1.  2nd October 1970
2.  2nd October 1975
3.  2nd October 1977
4.  2nd October 1972
  
Question Number : 106 Question Id : 7532294154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत सरकार �ारा "एकीकृत बाल िवकास सेवा" (ICDS) कब आरंभ की गई थी?
Options :
1.  2 अ�ूबर 1970
2.  2 अ�ूबर 1975
3.  2 अ�ूबर 1977
4.  2 अ�ूबर 1972
  
Question Number : 107 Question Id : 7532294155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Who wrote the book “The moral judgement of the child”
Options :
1.  Jean Piaget
2.  Tensen
3.  Judd
4.  Jung
  
Question Number : 107 Question Id : 7532294155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"द मॉरल जजम�ट ऑफ़ द चाइ�" पु�क िकसने िलखी है?
Options :
1.  जीन िपयाजे (Jean Piaget)
2.  ट�सेन (Tensen)
3.  जड (Judd)
4.  यंुग (Jung)
  
Question Number : 108 Question Id : 7532294156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How much child’s cumulative brain development occurs prior to the age of 6?
Options :
1.  50%
2.  85%
3.  70%
4.  90%
  
Question Number : 108 Question Id : 7532294156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



6 वष� की आयु से पूव� ब�े का संचयी म��� िवकास िकतना हो जाता है?
Options :
1.  50%
2.  85%
3.  70%
4.  90%
  
Question Number : 109 Question Id : 7532294157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Progressive series of changes towards the goal of maturity of a child, which result in new abilities called ----------
Options :
1.  Development
2.  Growth
3.  Growth and Maturity Both
4.  Maturity
  
Question Number : 109 Question Id : 7532294157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक ब�े की प�रप�ता के ल� की ओर प�रवत�नो ंकी �गितशील �ंृखला, िजसकी प�रणित नई �मताओ ंके �प म� होती है, �ा कहलाती है?
Options :
1.  िवकास
2.  वृ��
3.  वृ�� और प�रप�ता दोनों
4.  प�रप�ता
  
Question Number : 110 Question Id : 7532294158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Good Boy/Nice Girl orientation is part of which stage of moral development according to Kohlberg’s theory?
Options :



1.  Stage I
2.  Stage III
3.  Stage IV
4.  Stage VI
  
Question Number : 110 Question Id : 7532294158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कोलबग� के िस�ांत के अनुसार अ�ा लड़का/अ�ी लड़की (गुड �ॉय/नाइस गल�) अिभिव�ास नैितक िवकास की िकस अव�था का भाग है?
Options :
1.  अव�था I
2.  अव�था III
3.  अव�था IV
4.  अव�था VI
  
Question Number : 111 Question Id : 7532294159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
When the child acquires the scheme of “Object Permanence” according theory of Jean Piaget?
Options :
1.  The period of sensory motor
2.  The period of pre operational
3.  The period of intuitive thought
4.  The period of formal operations
  
Question Number : 111 Question Id : 7532294159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िजन िपयाजे (Jean Piaget) के िस�ांत के अनुसार ब�ा "व�ु �थािय�" की योजना कब उपािज�त करता है?
Options :
1.  संवेदी मोटर की अविध



2.  पूव� �चालन की अविध
3.  सहज िवचार की अविध
4.  औपचा�रक संचालनो ंकी अविध
  
Question Number : 112 Question Id : 7532294160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Development of child starts from the center line of the body to the outer parts, more distant from it this trend of development called
Options :
1.  Cephalocaudal
2.  Proximodigital
3.  Loco motional
4.  Unilateral
  
Question Number : 112 Question Id : 7532294160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ब�े का िवकास शरीर की क� � रेखा से आरंभ होकर बाहरी अंगो ंतक होता है, उससे कही ंअिधक दूरी तक िवकास की यह �वृि� �ा कहलाती है?
Options :
1.  शीष� पु�क (िसफ़ैलोकॉडल)
2.  िडिजटल समीप�थ (�ॉ��मोिडिजटल)
3.  लोको गितज (लोको मोशनल)
4.  एकपा�� (यूनीलैटरल)
  
Question Number : 113 Question Id : 7532294161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Manoj loves his mother Sheela but hates his father Sanjeev. What does it call?
Options :
1.  Elektra Complex
2.  Oedipus Complex



3.  Inferiority Complex
4.  Superiority Complex
  
Question Number : 113 Question Id : 7532294161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
मनोज अपनी माँ शीला से �ेम करता है लेिकन अपने िपता संजीव से घृणा करता है। इसे �ा कहते ह�?
Options :
1.  इले�� ा मनो�ंिथ
2.  इिडपस मनो�ंिथ
3.  हीनता मनो�ंिथ
4.  �े�ता मनो�ंिथ
  
Question Number : 114 Question Id : 7532294162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
At what stage according to Freud’s stages of development a child learns sex differences.
Options :
1.  Latency stage
2.  Anal Stage
3.  Phallic stage
4.  Genital stage
  
Question Number : 114 Question Id : 7532294162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ायड के िवकास की अव�थाओ ंके अनुसार ब�ा िकस अव�था म� िलंग भेद सीखता है?
Options :
1.  काम�सु�� अव�था
2.  गुद अव�था
3.  िश� अव�था



4.  जननांग अव�था
  
Question Number : 115 Question Id : 7532294163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who gave Psycho social stages theory of child development?
Options :
1.  E.L. Thorndike
2.  Erikson
3.  Eysenck
4.  Ellis
  
Question Number : 115 Question Id : 7532294163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
बाल िवकास का मनो-सामािजक अव�था िस�ांत िकसने �ितपािदत िकया था?
Options :
1.  ई.एल.थॉन�डाइक (E.L. Thorndike)
2.  ए�र�न (Erikson)
3.  आईस�क (Eysenck)
4.  एिलस (Ellis)
  
Question Number : 116 Question Id : 7532294164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Priya failed in her examination and she starts blaming her teacher in order to rationalize her failure, which adjustment mechanism she used.
Options :
1.  Sublimation
2.  Projection
3.  Rationalization
4.  Identification



  
Question Number : 116 Question Id : 7532294164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ि�या परी�ा म� अनु�ीण� हो गई और वह अपनी असफलता को यु��संगत बनाने के िलए अपने िश�क/िशि�का को दोष देने लगती है, उसने िकस समायोजन
तं� का �योग िकया?
Options :
1.  उदा�ीकरण
2.  ��ेपण
3.  यु��करण
4.  पहचान
  
Question Number : 117 Question Id : 7532294165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the characteristics is not suited in a creative child
Options :
1.  Independent in thinking
2.  Curious
3.  Intuitive
4.  Isolate
  
Question Number : 117 Question Id : 7532294165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक रचना�क ब�े म� िन�िल�खत म� से कौन सी िवशेषता उपयु� नही ंहै?
Options :
1.  िवचारणा म� �तं�
2.  उ�ुक
3.  सहज
4.  अलग-थलग



  
Question Number : 118 Question Id : 7532294166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
From which city central government scheme Poshan Abhiyan was launched?
Options :
1.  Jhunjhunu in Rajasthan
2.  Jodhpur in Rajasthan
3.  Jaipur in Rajasthan
4.  Jaisalmer in Rajasthan
  
Question Number : 118 Question Id : 7532294166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
क� � सरकार की योजना पोषण अिभयान िकस शहर से आरंभ की गई थी?
Options :
1.  राज�थान म� झंुझनँू
2.  राज�थान म� जोधपुर
3.  राज�थान म� जयपुर
4.  राज�थान म� जैसलमेर
  
Question Number : 119 Question Id : 7532294167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which nutrient is most required for bone development infants in early years of life?
Options :
1.  Protein
2.  Fat
3.  Carbohydrates
4.  Vitamin D
  
Question Number : 119 Question Id : 7532294167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िशशुओ ंके जीवन के आरंिभक वष� म� उनकी अ��थयो ंके िवकास के िलए िकस पोषक त� की सवा�िधक आव�कता होती है?
Options :
1.  �ोटीन
2.  वसा
3.  काब�हाइड� ेट
4.  िवटािमन D
  
Question Number : 120 Question Id : 7532294168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which vitamin is necessary for a child’s development and we can find it from sunlight?
Options :
1.  Vitamin A
2.  Vitamin C
3.  Vitamin D
4.  Vitamin B
  
Question Number : 120 Question Id : 7532294168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ब�े के िवकास के िलए कौन सा िवटािमन आव�क है और हम इसे सूय� के �काश से �ा� कर सकते ह�?
Options :
1.  िवटािमन A
2.  िवटािमन C
3.  िवटािमन D
4.  िवटािमन B
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Question Number : 121 Question Id : 7532294169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which is not the Indian Government efforts to fight malnutrition?
Options :
1.  Indira Gandhi Matritva Sahyog Yojna (IGMSY)
2.  National Rural health Mission (NRHM)
3.  Yashoda Poshan Yojna (YPY)
4.  Janani Suraksha Yojna (JSY)



  
Question Number : 121 Question Id : 7532294169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कुपोषण से लड़ने के िलए भारत सरकार का िन�िल�खत म� से कौन सा �यास नही ंहै?
Options :
1.  इंिदरा गांधी मातृ� सहयोग योजना (IGMSY)
2.  रा�� ीय �ामीण �ा� िमशन (NRHM)
3.  यशोदा पोषण योजना (YPY)
4.  जननी सुर�ा योजना (JSY)
  
Question Number : 122 Question Id : 7532294170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is the full form of NNMB
Options :
1.  National Nutrition Mission Board
2.  National Nutrition Monitoring Board
3.  National Nutrition Monitoring Bureau
4.  National Nutrition Mission Bureau
  
Question Number : 122 Question Id : 7532294170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
NNMB का पूण� ��प �ा है?
Options :
1.  National Nutrition Mission Board (रा�� ीय पोषण िमशन बोड�)
2.  National Nutrition Monitoring Board (रा�� ीय पोषण िनगरानी बोड�)
3.  National Nutrition Monitoring Bureau (रा�� ीय पोषण िनगरानी �ूरो)
4.  National Nutrition Mission Bureau (रा�� ीय पोषण िमशन �ूरो)
  



Question Number : 123 Question Id : 7532294171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
When was “National program of nutrition support” was introduced?
Options :
1.  15 August 1995
2.  15 August 1992
3.  15 August 1990
4.  15 August 1996
  
Question Number : 123 Question Id : 7532294171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"रा�� ीय पोषण सहायता काय��म" कब आरंभ िकया गया था?
Options :
1.  15 अग� 1995
2.  15 अग� 1992
3.  15 अग� 1990
4.  15 अग� 1996
  
Question Number : 124 Question Id : 7532294172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which government department is running Poshan Abhiyan Scheme?
Options :
1.  Ministry of women and child development
2.  Ministry of health and family welfare
3.  Ministry of food and public distribution
4.  Ministry of food and civil supplies Govt of India
  
Question Number : 124 Question Id : 7532294172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
पोषण अिभयान योजना कौन-सा सरकारी िवभाग चला रहा है?
Options :
1.  मिहला एवं बाल िवकास मं�ालय
2.  �ा� एवं प�रवार क�ाण मं�ालय
3.  खा� एवं साव�जिनक िवतरण मं�ालय
4.  खा� एवं नाग�रक आपूित� मं�ालय भारत सरकार
  
Question Number : 125 Question Id : 7532294173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What skills are necessary to inculcate at ECCE level through curriculum?
Options :
1.  Reading only
2.  Writing only
3.  Arithmetic only
4.  Reading, Writing & arithmetic
  
Question Number : 125 Question Id : 7532294173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ECCE �र पर पा�चया� के मा�म से कौन-सा/से कौशल मन म� िबठाना आव�क ह�?
Options :
1.  केवल पठन
2.  केवल लेखन
3.  केवल अंकगिणत
4.  पठन, लेखन और अंकगिणत
  
Question Number : 126 Question Id : 7532294174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



What are the provisions regarding ECCE for tribal community in NEP 2020?
Options :
1.  Schooling in Ashram shalas
2.  Schooling in ashram Vidyalaya
3.  Schooling in gurukul
4.  Schooling in Navodaya Vidyalaya
  
Question Number : 126 Question Id : 7532294174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
NEP 2020 म� आिदवासी समुदाय के िलए ECCE के संबंध म� �ा �ावधान ह�?
Options :
1.  आ�म शालाओ ंम� िश�ा
2.  आ�म िव�ालय म� िश�ा
3.  गु�कुल म� िश�ा
4.  नवोदय िव�ालय म� िश�ा
  
Question Number : 127 Question Id : 7532294175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who recommended gifts and games in early childhood curriculum?
Options :
1.  Mahatma Gandhi
2.  Fredrick Frobel
3.  Maria Montessori
4.  Jacques Rousseau
  
Question Number : 127 Question Id : 7532294175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
बा�ाव�था के पा��म म� उपहारो ंऔर खेलो ंकी अनुशंसा िकसने की थी?
Options :



1.  महा�ा गांधी (Mahatma Gandhi)
2.  �ेड�रक �ोबेल (Fredrick Frobel)
3.  मा�रया मॉ�ेसरी (Maria Montessori)
4.  जै� �सो (Jacques Rousseau)
  
Question Number : 128 Question Id : 7532294176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who include “Didactic apparatus” in her curriculum to teach backward children?
Options :
1.  Maria Montessori
2.  John Dewey
3.  Herbert Spencer
4.  Comenius
  
Question Number : 128 Question Id : 7532294176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िपछड़े ब�ो ंको पढ़ाने के िलए अपने पा��म म� "�बोध उपकरण" को िकसने स��िलत िकया था?
Options :
1.  मा�रया मॉ�ेसरी (Maria Montessori)
2.  जॉन �ूई (John Dewey)
3.  हब�ट� ��सर (Herbert Spencer)
4.  कमेिनयस (Comenius)
  
Question Number : 129 Question Id : 7532294177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which NEP recommended that “Rich local traditions of India” should be incorporated in early childhood curriculum?
Options :
1.  NEP 2020



2.  NEP 1986
3.  NEP 1968
4.  NEP 1979
  
Question Number : 129 Question Id : 7532294177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकस NEP ने अनुशंसा की थी िक "भारत की समृ� �थानीय परंपराओ"ं को बा�ाव�था पा��म म� स��िलत िकया जाना चािहए?
Options :
1.  NEP 2020
2.  NEP 1986
3.  NEP 1968
4.  NEP 1979
  
Question Number : 130 Question Id : 7532294178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According New Education Policy 2020 the planning and implementation of early childhood care and education curriculum will be carried out
jointly by the ministries.
Options :
1.  HFW & HRD
2.  HRD & WCD
3.  HFW & WCD
4.  HRD, WCD & HFW
  
Question Number : 130 Question Id : 7532294178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नई िश�ा नीित 2020 के अनुसार �ारंिभक बा�ाव�था देखभाल और िश�ा पा��म की योजना और काया��यन िन�िल�खत म� से िकन मं�ालयो ं�ारा संयु�
�प से िकया जाएगा?
Options :
1.  HFW और HRD



2.  HRD और WCD
3.  HFW और WCD
4.  HRD, WCD और HFW
  
Question Number : 131 Question Id : 7532294179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How many Students currently in elementary school are facing learning crisis according to New Education Policy 2020?
Options :
1.  5 Crore
2.  6 Crore
3.  2 Crore
4.  8 Crore
  
Question Number : 131 Question Id : 7532294179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नई िश�ा नीित 2020 के अनुसार वत�मान समय म� �ाथिमक िव�ालय म� िकतने िव�ाथ� िश�ा संकट का सामना कर रहे ह�?
Options :
1.  5 करोड़
2.  6 करोड़
3.  2 करोड़
4.  8 करोड़
  
Question Number : 132 Question Id : 7532294180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which digital platform has been given by central government as a repository of high-quality resources on foundational literacy and numeracy?
Options :
1.  PARAKH
2.  DIKSHA



3.  SWAYAM
4.  ARPIT
  
Question Number : 132 Question Id : 7532294180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
क� � सरकार �ारा मूलभूत सा�रता और सं�ा�कता पर उ� गुणव�ा वाले संसाधनो ंके भंडार के �प म� कौन सा िडिजटल �ैटफ़ॉम� �दान िकया गया है?
Options :
1.  परख (PARAKH)
2.  दी�ा (DIKSHA)
3.  �यं (SWAYAM)
4.  अिप�त (ARPIT)
  
Question Number : 133 Question Id : 7532294181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What will be pupil teacher ratio (PTR) for socio and economically disadvantaged students according NEP 2020?
Options :
1.  25:1
2.  30:1
3.  45:1
4.  10:1
  
Question Number : 133 Question Id : 7532294181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
NEP 2020 के अनुसार सामािजक और आिथ�क �प से सुिवधाहीन िव�ािथ�यो ंके िलए िव�ाथ�-िश�क अनुपात (PTR) �ा होगा?
Options :
1.  25:1
2.  30:1
3.  45:1



4.  10:1
  
Question Number : 134 Question Id : 7532294182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is the target year to achieve universal foundational literacy and numeracy in primary school according NEP2020?
Options :
1.  By 2025
2.  By 2030
3.  By 2035
4.  By 2040
  
Question Number : 134 Question Id : 7532294182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
NEP 2020 के अनुसार �ाथिमक िव�ालय म� साव�भौिमक मूलभूत सा�रता और सं�ा�कता �ा� करने का ल� वष� �ा है?
Options :
1.  2025 तक
2.  2030 तक
3.  2035 तक
4.  2040 तक
  
Question Number : 135 Question Id : 7532294183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Development and learning take place in early childhood care and education------------
Options :
1.  In all domains
2.  In cognitive domain only
3.  In affective domain only
4.  In psychomotor domain only



  
Question Number : 135 Question Id : 7532294183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आरंिभक बा�ाव�था देखभाल और िश�ा म�, िवकास और िश�ा __________ होता/ होती है।
Options :
1.  सभी ��े�ो ंम�
2.  केवल सं�ाना�क ��े� म�
3.  केवल �भािवत ��े� म�
4.  केवल मन:�ेरक ��े� म�
  
Question Number : 136 Question Id : 7532294184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
At what grade every student will attain foundational literacy and numeracy by NEP 2020?
Options :
1.  Grade 03
2.  Grade 05
3.  Grade 04
4.  Grade 01
  
Question Number : 136 Question Id : 7532294184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
NEP 2020 के तहत ��ेक िव�ाथ� िकस क�ा म� मूलभूत सा�रता और सं�ा�कता �ा� करेगा?
Options :
1.  क�ा 03
2.  क�ा 05
3.  क�ा 04
4.  क�ा 01
  



Question Number : 137 Question Id : 7532294185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What percentage of brain development take place at the age of six year by neuro science research?
Options :
1.  90%
2.  50%
3.  70%
4.  60%
  
Question Number : 137 Question Id : 7532294185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
तंि�का िव�ान �ारा िकए गए अनुसंधान के अनुसार छह वष� की आयु म� म��� का िकतने �ितशत िवकास हो जाता है?
Options :
1.  90%
2.  50%
3.  70%
4.  60%
  
Question Number : 138 Question Id : 7532294186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which educational principle given by Frobel does not accomplish play way method?
Options :
1.  Principle of self-activity
2.  Principle of social participation
3.  Principle of freedom
4.  Principle of unity
  
Question Number : 138 Question Id : 7532294186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
�ोबेल �ारा िदया गया कौन-सा शैि�क िस�ांत �ीड़ा-प�ित (�े वे मेथड) को पूण� नही ंकरता है?
Options :
1.  आ�ि�या का िस�ांत
2.  सामािजक �ितभािगता का िस�ांत
3.  �तं�ता का िस�ांत
4.  एकता का िस�ांत
  
Question Number : 139 Question Id : 7532294187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
At ECCE level National curriculum frame work (2005) has laid emphasis on
Options :
1.  Universalization
2.  Health and Hygiene
3.  Holistic Development
4.  Preparing children for primary education
  
Question Number : 139 Question Id : 7532294187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ECCE �र पर रा�� ीय पा�चया� �परेखा (2005) ने िकस पर बल िदया है?
Options :
1.  साव�भौिमकरण
2.  �ा� और ��ता
3.  सम� िवकास
4.  ब�ो ंको �ाथिमक िश�ा के िलए तैयार करना
  
Question Number : 140 Question Id : 7532294188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Which educationist is not directly related to play way method?
Options :
1.  Fredrick Frobel
2.  Maria Montessori
3.  Henry Caldwell Cook
4.  Friedrich Herbart
  
Question Number : 140 Question Id : 7532294188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकस िश�ािवद् का सीधा संबंध �ीड़ा-प�ित (�े वे मेथड) से नही ंहै?
Options :
1.  �ेड�रक �ोबेल (Fredrick Frobel)
2.  मा�रया मॉ�ेसरी (Maria Montessori)
3.  हेनरी कै�वेल कुक (Henry Caldwell Cook)
4.  �ेड�रक हब�ट� (Friedrich Herbart)
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Section Id : 753229222
Section Number : 1
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Mandatory or Optional : Mandatory
Number of Questions : 20
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Question Number : 141 Question Id : 7532294189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What shall be method of teaching & learning in the preparatory class or Balavatika according NEP 2020?
Options :
1.  Play Based Learning
2.  Lecture based learning
3.  Project based learning
4.  Story based learning
  
Question Number : 141 Question Id : 7532294189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
NEP 2020 के अनुसार आरंिभक क�ा या बालवािटका म� अ�ापन और अ�यन की िविध �ा होगी?
Options :
1.  �ीड़ा आधा�रत अ�यन
2.  �ा�ान आधा�रत अ�यन
3.  प�रयोजना आधा�रत अ�यन
4.  कथा आधा�रत अ�यन
  



Question Number : 142 Question Id : 7532294190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which educational centers are integrated into school complexes to make an enriched learning environment for holistic development of children?
Options :
1.  Bal wadi centers
2.  Anganwadi centers
3.  Balvatika centers
4.  Ashram Shala centers
  
Question Number : 142 Question Id : 7532294190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ब�ो ंके सम� िवकास के िलए एक समृ� िश�ा का वातावरण बनाने के िलए िकन शैि�क क� �ो ंको िव�ालय प�रसरो ंम� एकीकृत िकया गया है?
Options :
1.  बाल वाड़ी क� �
2.  आंगनवाडी क� �
3.  बालवािटका क� �
4.  आ�म शाला क� �
  
Question Number : 143 Question Id : 7532294191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How play-based learning is helpful in holistic development of a child
Options :
1.  It develops cognitive domain
2.  It develops affective domain
3.  It develops multiple pathways
4.  It develops reflective thinking
  
Question Number : 143 Question Id : 7532294191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
�ीड़ा-आधा�रत िश�ा, ब�े के सम� िवकास म� िकस �कार सहायक होती है?
Options :
1.  यह सं�ाना�क ��े� िवकिसत करती है।
2.  यह भावा�क ��े� िवकिसत करती है।
3.  यह अनेक माग� िवकिसत करती है।
4.  यह िचंतनशील िवचारणा को िवकिसत करती है।
  
Question Number : 144 Question Id : 7532294192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which Educational organizations will prepare 3 months play based “school preparation module”?
Options :
1.  UGC & MHRD
2.  NCERT & SCERTs
3.  NCTE & AICTE
4.  NIOS & IGNOU
  
Question Number : 144 Question Id : 7532294192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कौन-से शैि�क संगठन 3 माह का �ीड़ा-आधा�रत "िव�ालय तैयारी �ित�पक (�ूल बे�ड मॉ�ूल)" तैयार कर� गे?
Options :
1.  UGC और MHRD
2.  NCERT और SCERTs
3.  NCTE और AICTE
4.  NIOS और IGNOU
  
Question Number : 145 Question Id : 7532294193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Froebel laid emphasis on the development of truth, beauty and goodness as moral rules from the very childhood. Which type of development is
concerned with these moral rules?
Options :
1.  Physical development
2.  Mental development
3.  Holistic development
4.  Moral development
  
Question Number : 145 Question Id : 7532294193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ोबेल ने बा�ाव�था से ही नैितक िनयमो ंके �प म� स�, सौदंय� और अ�ाई के िवकास पर बल िदया। इन नैितक िनयमो ंके साथ िन�िल�खत म� से िकस
�कार के िवकास का संबंध है?
Options :
1.  शारी�रक िवकास
2.  मानिसक िवकास
3.  सम� िवकास
4.  नैितक िवकास
  
Question Number : 146 Question Id : 7532294194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
If we want to know about children’s social behaviour of class 3rd , which type of observation should we use?
Options :
1.  Controlled Observation
2.  Naturalistic observation
3.  Participant observation
4.  Free observation
  
Question Number : 146 Question Id : 7532294194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



यिद हम तीसरी क�ा के ब�ो ंके सामािजक �वहार के बारे म� जानना चाहते ह�, तो हम� िकस �कार के अवलोकन का �योग करना चािहए?
Options :
1.  िनयंि�त अवलोकन
2.  �कृितवादी अवलोकन
3.  �ितभागी अवलोकन
4.  �तं� अवलोकन
  
Question Number : 147 Question Id : 7532294195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which purpose is not included in an appropriate assessment system of early childhood education?
Options :
1.  Assessment for support learning
2.  Assessment for identification of special needs
3.  Assessment for program evaluation and monitoring trends
4.  Assessment for school’s locality
  
Question Number : 147 Question Id : 7532294195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आरंिभक बा�ाव�था िश�ा की उपयु� मू�ांकन �णाली म� कौन-सा उ�े� स��िलत नही ंहै?
Options :
1.  समिथ�त िश�ा के िलए आकलन
2.  िवशेष आव�कताओ ंकी पहचान के िलए आकलन
3.  काय��म मू�ांकन और िनगरानी �वृि�यो ंके िलए आकलन
4.  िव�ालय के प�र�े� के िलए आकलन
  
Question Number : 148 Question Id : 7532294196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which type of teaching is necessary after identifying slow learners in the class of early childhood?



Options :
1.  Formal Teaching
2.  Informal teaching
3.  Remedial teaching
4.  Non formal teaching
  
Question Number : 148 Question Id : 7532294196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आरंिभक बा�ाव�था के वग� म� मंद गित से िश�ा �हण करने वालो ंकी पहचान करने के बाद िकस �कार का िश�ण आव�क है?
Options :
1.  औपचा�रक िश�ण
2.  अनौपचा�रक िश�ण
3.  उपचारा�क िश�ण
4.  िनरौपचा�रक िश�ण
  
Question Number : 149 Question Id : 7532294197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which is NOT a principle of assessment of young children?
Options :
1.  Assessment should bring about benefits for children
2.  Assessment should be tailored to a specific purpose
3.  Assessment should be age appropriate
4.  Assessment should be conduct in controlled situation
  
Question Number : 149 Question Id : 7532294197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन-सा छोटे ब�ो ंके आकलन का िस�ांत नही ंहै?
Options :



1.  आकलन से ब�ो ंको लाभ �ा� होना चािहए।
2.  आकलन एक िविश� उ�े� के अनु�प होना चािहए।
3.  आकलन आयु के अनुकूल होना चािहए।
4.  आकलन िनयंि�त ��थित म� िकया जाना चािहए।
  
Question Number : 150 Question Id : 7532294198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How many factors are measured in Early school Personality Questionnaire by R.B. Cattell?
Options :
1.  13 factors
2.  14 factors
3.  16 factors
4.  12 factors
  
Question Number : 150 Question Id : 7532294198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आर.बी कैटेल (R.B. Cattell) �ारा आरंिभक िव�ालय ���� ��ावली म� िकतने कारको ंका मापन िकया जाता है?
Options :
1.  13 कारक
2.  14 कारक
3.  16 कारक
4.  12 कारक
  
Question Number : 151 Question Id : 7532294199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which trait of personality was intended to measure by Raven’s colored progressive Matrices?
Options :
1.  Abstract Thinking of child



2.  Convergent Thinking of child
3.  Concrete Thinking of Child
4.  Divergent thinking of child
  
Question Number : 151 Question Id : 7532294199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
रेवन के रंिजत �गितशील आ�ूह (मैिट� सेस) �ारा ���� के िकस गुण (trait) को मापने का उ��� था?
Options :
1.  ब�े की अमूत� िवचारणा
2.  ब�े की अिभसारी िवचारणा
3.  ब�े की मूत� िवचारणा
4.  ब�े की अपसारी िवचारणा
  
Question Number : 152 Question Id : 7532294200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Children’s Apperception Test (CAT) was prepared by Leopold Bellak, who has done its Indian adaptation?
Options :
1.  Uma Chaudhary
2.  Sohan Lal
3.  S.C. Gupta
4.  S.N. Sharma
  
Question Number : 152 Question Id : 7532294200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िलयोपो� बैलक �ारा बाल सं��� परी�ण (CAT) तैयार िकया गया था। इसका भारतीय अंगीकरण िकसने िकया है?
Options :
1.  उमा चौधरी
2.  सोहन लाल



3.  एस.सी. गु�ा
4.  एस.एन. शमा�
  
Question Number : 153 Question Id : 7532294201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which test is designed to reveal a child’s strength and weakness in one or more areas of the field being tested?
Options :
1.  Achievement Test
2.  Diagnostic Tests
3.  Standardized Tests
4.  Teacher made Test
  
Question Number : 153 Question Id : 7532294201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
परी�ण िकए जा रहे �े� के एक या अिधक �े�ो ंम� ब�े की श�� और दुब�लता को �कट करने के िलए कौन-सा परी�ण अिभक��त िकया गया है?
Options :
1.  उपल�� परी�ण
2.  नैदािनक परी�ण
3.  मानकीकृत परी�ण
4.  िश�क �ारा िनिम�त परी�ण
  
Question Number : 154 Question Id : 7532294202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
If we want to teach literacy at early childhood level what will NOT be our expected objective?
Options :
1.  Word Recognition
2.  Writing
3.  Comprehension



4.  Discussion
  
Question Number : 154 Question Id : 7532294202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
यिद हम आरंिभक बा�ाव�था �र पर सा�रता िसखाना चाहते ह� तो हमारा अपेि�त उ�े� �ा नही ंहोगा?
Options :
1.  श� की पहचान
2.  लेखन
3.  अिभबोध
4.  िवचार-िवमश�
  
Question Number : 155 Question Id : 7532294203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
We start our teaching of language by following alphabetic principle at early childhood level. What we DO NOT impart to our students by
following this principle?
Options :
1.  Phonological awareness
2.  Word recognition
3.  Structural Analysis
4.  Singing of poem
  
Question Number : 155 Question Id : 7532294203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
हम आरंिभक बा�ाव�था �र पर वण�माला के िस�ांत का पालन करके अपना भाषा का िश�ण आरंभ करते ह�। इस िस�ांत का पालन करके हम अपने
िव�ािथ�यो ंको �ा �दान नही ंकरते ह�?
Options :
1.  ��ा�क जाग�कता
2.  श� पहचान
3.  संरचना�क िव�ेषण



4.  किव� गायन
  
Question Number : 156 Question Id : 7532294204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is literacy Development in early childhood?
Options :
1.  Ability to read and write
2.  Ability to communicate
3.  Ability to compose
4.  Ability to comprehend
  
Question Number : 156 Question Id : 7532294204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आरंिभक बा�ाव�था म� सा�रता िवकास �ा है?
Options :
1.  पढ़ने और िलखने की �मता
2.  संवाद करने की �मता
3.  रचना करने की �मता
4.  समझने की �मता
  
Question Number : 157 Question Id : 7532294205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How language development take place in early childhood stage according Piaget’s theory of cognitive development?
Options :
1.  By assimilation
2.  By accommodation
3.  By comprehension
4.  By assimilation and accommodation



  
Question Number : 157 Question Id : 7532294205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िपयाजे (Piaget) के सं�ाना�क िवकास के िस�ांत के अनुसार आरंिभक बा�ाव�था म� भाषा का िवकास िकस �कार होता है?
Options :
1.  आ�सा�रण �ारा
2.  समंजन �ारा
3.  अिभबोध �ारा
4.  आ�सा�रण और समंजन �ारा
  
Question Number : 158 Question Id : 7532294206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Name the tool that it is found in the brain and enables the child to rapidly develop the rules of language according Noam Chomsky?
Options :
1.  LAD
2.  CAD
3.  KAD
4.  MAD
  
Question Number : 158 Question Id : 7532294206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उस उपकरण का नाम बताएँ जो म��� म� पाया जाता है और नोम चॉ��ी के अनुसार ब�े को भाषा के िनयमो ंको ती�ता से िवकिसत करने म� स�म बनाता
है?
Options :
1.  LAD
2.  CAD
3.  KAD
4.  MAD
  



Question Number : 159 Question Id : 7532294207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who used the term Zone of proximal Development (ZPD) in language development
Options :
1.  Vygotsky
2.  Skinner
3.  Piaget
4.  Chomsky
  
Question Number : 159 Question Id : 7532294207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भाषा िवकास म� आस� िवकास �े� (ZPD) श� का �योग िकसने िकया?
Options :
1.  वाइगो�की (Vygotsky)
2.  ��नर (Skinner)
3.  िपयाजे (Piaget)
4.  चॉ��ी (Chomsky)
  
Question Number : 160 Question Id : 7532294208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which is NOT the functions of Central Institute of Indian Languages (CIIL)?
Options :
1.  Language analysis
2.  Language Pedagogy
3.  Language Technology
4.  To teach ancient Language
  
Question Number : 160 Question Id : 7532294208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
क� �ीय भारतीय भाषा सं�थान (CIIL) का िन�िल�खत म� से कौन-सा काय� नही ंहै?
Options :
1.  भाषा िव�ेषण
2.  भाषा अ�ापन-िव�ान
3.  भाषा �ौ�ोिगकी
4.  �ाचीन भाषा िसखाना
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Question Number : 161 Question Id : 7532294209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A condition where a child experiences late onset of language, or late language emergence but demonstrates giftedness in other areas called.
Options :
1.  Newton Syndrome
2.  Einstein Syndrome
3.  Curie Syndrome
4.  Pasteur Syndrome
  
Question Number : 161 Question Id : 7532294209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक ऐसी ��थित िजसम� ब�ा भाषा के िवलंब से आरंभ होने, या भाषा के िवलंब से उ�व का अनुभव करता है, लेिकन अ� �े�ो ंम� �ितभा का �दश�न करता है,
�ा कहलाती है?
Options :
1.  �ूटन संल�ण
2.  आइं�ीन संल�ण
3.  �ूरी संल�ण
4.  पा�र संल�ण
  
Question Number : 162 Question Id : 7532294210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In which disease uneven skill development primarily affecting the communication and social abilities of a person marked by repetitive
behaviour?
Options :
1.  Autism
2.  Cerebral Palsy
3.  Paranoia



4.  Dyslexia
  
Question Number : 162 Question Id : 7532294210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकस रोग म� असमान कौशल िवकास मु� �प से पुनरावृ�ीय �वहार �ारा िचि�त ��� की संचार और सामािजक �मताओ ंको �भािवत करता है?
Options :
1.  �लीनता (Autism)
2.  �म��� घात (Cerebral Palsy)
3.  संिव�म (Paranoia)
4.  वाचनवैक� (Dyslexia)
  
Question Number : 163 Question Id : 7532294211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which is not a good strategy in teaching mathematics-
Options :
1.  Introduce topics with multiple examples
2.  Discourage students for reasoning when solving problems
3.  Raise the difficulty level slowly
4.  Encourage math’s talks and games
  
Question Number : 163 Question Id : 7532294211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
गिणत पढ़ाने म� िन�िल�खत म� से कौन-सी अ�ी रणनीित नही ंहै?
Options :
1.  अनेक उदाहरणो ंके साथ िवषयो ंका प�रचय देना।
2.  ��ो ंको हल करते समय छा�ो ंको तक�  करने के िलए हतो�ािहत करना।
3.  किठनाई �र धीरे-धीरे बढ़ाना।
4.  गिणत संबंधी बातचीत और खेलो ंके िलए �ो�ािहत करना।



  
Question Number : 164 Question Id : 7532294212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A learning disability that affects the ability to learn mathematics in someone of normal intelligence call---
Options :
1.  Dyscalculia
2.  Dysphagia
3.  Dyslexia
4.  Dyspepsia
  
Question Number : 164 Question Id : 7532294212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
सीखने की अ�मता जो सामा� बु�� के िकसी ��� म� गिणत सीखने की स�मता को �भािवत करती है, _________कहलाती है।
Options :
1.  िड�ै�ूिलया (Dyscalculia)
2.  िड�ेिगया (Dysphagia)
3.  िड�े��आ (Dyslexia)
4.  िड�े��या (Dyspepsia)
  
Question Number : 165 Question Id : 7532294213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A child’s math’s knowledge at the start of kindergarten predicts later ------
Options :
1.  Child’s Academic achievement
2.  Child’s personality
3.  Child’s profession
4.  Child’s aptitude
  
Question Number : 165 Question Id : 7532294213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकंडरगाट�न के आरंभ म� ब�े का गिणत के संबंध म� �ान बाद म� _______________ का पूवा�नुमान करता है।
Options :
1.  ब�े की शै�िणक उपल��
2.  ब�े के ����
3.  ब�े के पेशे
4.  ब�े की अिभ�मता
  
Question Number : 166 Question Id : 7532294214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Law in mathematics, either of two laws relating to number operations of addition and multiplication stated symbolically. a+b=b+a and ab=ba.
What does it call?
Options :
1.  Commutative law
2.  Associative law
3.  Distributive law
4.  Multiplicative law
  
Question Number : 166 Question Id : 7532294214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
गिणत म� िनयम, जोड़ और गुणा के सं�ा संचालन से संबंिधत दो िनयमो ंम� से एक को �तीका�क �प से बताया गया है। a+b=b+a और ab=ba, इसे �ा कहते
ह�?
Options :
1.  �म िविनमेय िनयम (Commutative law)
2.  साहचय� िनयम (Associative law)
3.  िवतरण िनयम (Distributive law)
4.  गुणना�क िनयम (Multiplicative law)
  



Question Number : 167 Question Id : 7532294215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which symptom is not included in dyscalculia illness?
Options :
1.  Difficulty in counting backwards
2.  Weak mental arithmetic skills
3.  A poor sense of numbers and estimation
4.  Difficulty with writing or copying
  
Question Number : 167 Question Id : 7532294215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अंकगिणतीय गणना करने म� अ�मता (dyscalculia) रोग म� कौन-सा ल�ण स��िलत नही ंहै?
Options :
1.  उ�ी िगनती करने म� किठनाई
2.  दुब�ल मानिसक अंकगिणतीय कौशल
3.  सं�ाओ ंऔर अनुमान की अ� समझ
4.  िलखने या �ितिलिप बनाने म� किठनाई
  
Question Number : 168 Question Id : 7532294216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which Statement is not correct about teaching of mathematics at early childhood level?
Options :
1.  By playing with shapes students learn basic geometry
2.  By playing simple games where students identify missing objects in a pattern, they learn basic algebraic reasoning
3.  By playing with objects of different width length or weight, they learn about simple measurement.
4.  By placing objects in different locations student learn to use grammar
  
Question Number : 168 Question Id : 7532294216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
आरंिभक बा�ाव�था �र पर गिणत पढ़ाने के िवषय म� िन�िल�खत म� से कौन-सा कथन सही नही ंहै?
Options :
1.  आकृितयो ंके साथ खेलकर िव�ाथ� बुिनयादी �ािमित सीखते ह�।
2.  सरल खेल खेलकर िजसम� िव�ाथ� एक �ित�प (पैटन�) म� लु� व�ुओ ंकी पहचान करते ह�, वे बुिनयादी बीजगिणतीय तक�  सीखते ह�।
3.  िविभ� चौड़ाई, लंबाई या भार की व�ुओ ंके साथ खेलकर, वे सरल माप के बारे म� सीखते ह�।
4.  व�ुओ ंको िविभ� �थानो ंपर रखकर िव�ाथ� �ाकरण का उपयोग करना सीखते ह�।
  
Question Number : 169 Question Id : 7532294217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which method would you like to use to teach math’s for primary student?
Options :
1.  Lecture method
2.  Laboratory method
3.  Demonstration method
4.  Problem solving
  
Question Number : 169 Question Id : 7532294217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ाथिमक िव�ाथ� को गिणत पढ़ाने के िलए आप िकस प�ित का �योग करना चाह�गे?
Options :
1.  �ा�ान िविध
2.  �योगशाला िविध
3.  �दश�न िविध
4.  सम�ा समाधान
  
Question Number : 170 Question Id : 7532294218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



An attempt to study some part of real-life problem in mathematical terms, we call it
Options :
1.  Mathematical modelling
2.  Mathematical module
3.  Mathematical mapping
4.  Mathematical motif
  
Question Number : 170 Question Id : 7532294218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
वा�िवक जीवन की सम�ा के कुछ भाग का गिणतीय पदो ंम� अ�यन करने का �यास, िजसे हम___________कहते ह�।
Options :
1.  गिणतीय �ित�पण (Mathematical modeling)
2.  गिणतीय मॉ�ुल (Mathematical module)
3.  गिणतीय मानिच�ण (Mathematical mapping)
4.  गिणतीय �पांकन (Mathematical motif)
  
Question Number : 171 Question Id : 7532294219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Frederick Frobel created 20 gifts in his kindergarten teaching system. Which one of them is related to teach mathematics?
Options :
1.  Gift 01
2.  Gift 03
3.  Gift 05
4.  Gift 07
  
Question Number : 171 Question Id : 7532294219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ेड�रक �ोबेल ने अपने िकंडरगाट�न िश�ण �णाली म� 20 उपहार बनाए। इनम� से कौन-सा गिणत पढ़ाने से संबंिधत है?
Options :



1.  उपहार 01
2.  उपहार 03
3.  उपहार 05
4.  उपहार 07
  
Question Number : 172 Question Id : 7532294220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is full form of DIKSHA?
Options :
1.  Digital infrastructure for Knowledge sharing
2.  Digital instruction for Knowledge sharing
3.  Digital instrument for Knowledge sharing
4.  Digital institute for Knowledge sharing
  
Question Number : 172 Question Id : 7532294220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
दी�ा (DIKSHA) का पूण� ��प �ा है?
Options :
1.  Digital infrastructure for Knowledge sharing (िडिजटल इं�ा���र फ़ॉर नॉलेज शेय�रंग)
2.  Digital instruction for Knowledge sharing (िडिजटल इं���न फ़ॉर नॉलेज शेय�रंग)
3.  Digital instrument for Knowledge sharing (िडिजटल इ��म�ट फ़ॉर नॉलेज शेय�रंग)
4.  Digital institute for Knowledge sharing (िडिजटल इं�ी�ूट फ़ॉर नॉलेज शेय�रंग)
  
Question Number : 173 Question Id : 7532294221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which app is launched by central government as a national repository of high-quality resources for early childhood education?
Options :
1.  DIKSHA



2.  SHIKSHA
3.  SAMEEKSHA
4.  SURAKSHA
  
Question Number : 173 Question Id : 7532294221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आरंिभक बा�ाव�था की िश�ा के िलए उ� गुणव�ा वाले संसाधनो ंके रा�� ीय भंडार के �प म� क� � सरकार �ारा कौन-सा ऐप (app) आरंभ िकया गया है?
Options :
1.  DIKSHA (दी�ा)
2.  SHIKSHA (िश�ा)
3.  SAMEEKSHA (समी�ा)
4.  SURAKSHA (सुर�ा)
  
Question Number : 174 Question Id : 7532294222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which educational organizations are selected for developing high quality textbooks according to NEP 2020?
Options :
1.  NCERT & SCERT
2.  NCTE & NCERT
3.  AICTE & NCERT
4.  UGC & NCERT
  
Question Number : 174 Question Id : 7532294222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
NEP 2020 के अनुसार उ� गुणव�ा वाली पा�पु�को ंको िवकिसत करने के िलए िकन शैि�क संगठनो ंका चयन िकया गया है?
Options :
1.  NCERT और SCERT
2.  NCTE और NCERT



3.  AICTE और NCERT
4.  UGC और NCERT
  
Question Number : 175 Question Id : 7532294223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
When we talk about educational resources, what do we NOT include in it?
Options :
1.  Library, playground
2.  Science Lab, Skill Lab
3.  Computer Lab, Language lab
4.  School Road
  
Question Number : 175 Question Id : 7532294223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जब हम शैि�क संसाधनो ंके बारे म� बात करते ह�, तो हम इसम� �ा स��िलत नही ंकरते ह�?
Options :
1.  पु�कालय, खेल का मैदान
2.  िव�ान-�योगशाला, कौशल-�योगशाला
3.  कं�ूटर-�योगशाला, भाषा-�योगशाला
4.  िव�ालय माग�
  
Question Number : 176 Question Id : 7532294224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Where ‘Reggio Emilia’ method evolved for ECCE?
Options :
1.  Italy
2.  India
3.  Russia



4.  America
  
Question Number : 176 Question Id : 7532294224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ECCE के िलए 'रेिजयो एिमिलया (Reggio Emilia)' िविध कहाँ िवकिसत �ई थी?
Options :
1.  इटली
2.  भारत
3.  �स
4.  अमे�रका
  
Question Number : 177 Question Id : 7532294225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which method stands for science, technology, Engineering and maths and is a curriculum based on educating students in these four specific areas
using an interdisciplinary approach?
Options :
1.  STEM
2.  STEEM
3.  STEMMA
4.  TEEMS
  
Question Number : 177 Question Id : 7532294225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कौन-सी िविध िव�ान, �ौ�ोिगकी, अिभयांि�की और गिणत के िलए है और एक अंतः िवषय �ि�कोण का �योग करके इन चार िविश� �े�ो ंम� िव�ािथ�यो ंको
िशि�त करने पर आधा�रत पा��म है?
Options :
1.  STEM
2.  STEEM
3.  STEMMA



4.  TEEMS
  
Question Number : 178 Question Id : 7532294226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which academician called “Father of Pedagogy” due to his unique teaching method?
Options :
1.  Pestalozzi
2.  Rousseau
3.  Frobel
4.  Montessori
  
Question Number : 178 Question Id : 7532294226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकस िश�ािवद् को उनकी अनूठी िश�ण िविध के कारण "िश�ाशा� का जनक" कहा जाता है?
Options :
1.  पे�ालोज़ी (Pestalozzi)
2.  �सो (Rousseau)
3.  �ोबेल (Frobel)
4.  मॉ�ेसरी (Montessori)
  
Question Number : 179 Question Id : 7532294227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Pestalozzi’s method of empirical sensory learning especially through object lesson call-
Options :
1.  Anschauung method
2.  Bank street method
3.  Reggio Emilia method
4.  Waldorf Steiner Method



  
Question Number : 179 Question Id : 7532294227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िवशेष �प से �ेरणादायी उदाहरण के मा�म से अनुभवज� संवेदी िश�ा की पे�ालॉजी (पे�ालोज़ी) की िविध �ा कहलाती है?
Options :
1.  अंसचौगं िविध (Anschauung method)
2.  ब�क �� ीट िविध (Bank street method)
3.  रेिजयो एिमिलया िविध (Reggio Emilia method)
4.  वा�ॉफ़�  �ेनर िविध (Waldorf Steiner Method)
  
Question Number : 180 Question Id : 7532294228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
While planning ECCE, which component should we ignore?
Options :
1.  Context
2.  Content
3.  Process
4.  Career of Child
  
Question Number : 180 Question Id : 7532294228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ECCE की योजना बनाते समय, हम� िकस घटक की उपे�ा करनी चािहए?
Options :
1.  संदभ�
2.  िवषय व�ु
3.  �ि�या
4.  ब�े की वृि� (करीयर)
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Question Number : 181 Question Id : 7532294229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is the objective of Indian Government while planning the establishment of primary schools in every habitation across the country driven by
the Sarva Shiksha Abhiyan?
Options :
1.  Universal Access to primary schools



2.  Universal Employment Of teachers
3.  Universal Urbanization
4.  Universal Capturing agricultural land
  
Question Number : 181 Question Id : 7532294229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
सव� िश�ा अिभयान �ारा संचािलत देश भर म� ��ेक ब�ी म� �ाथिमक िव�ालयो ंकी �थापना की योजना बनाते समय भारत सरकार का उ�े� �ा है?
Options :
1.  �ाथिमक िव�ालयो ंतक साव�भौिमक प�ँच
2.  िश�को ंका साव�भौिमक रोज़गार
3.  साव�भौिमक शहरीकरण
4.  कृिष भूिम का साव�भौिमक ��हण
  
Question Number : 182 Question Id : 7532294230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What among the following is not the most important area to be considered under infrastructure while developing an anganwadi centre
Options :
1.  reading corner
2.  Science corner
3.  Playground
4.  Bathing area
  
Question Number : 182 Question Id : 7532294230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आंगनवाड़ी क� � िवकिसत करते समय िन�िल�खत म� से कौन-सा सवा�िधक मह�पूण� �े� बुिनयादी ढांचे के अंतग�त नही ंमाना जाता है?
Options :
1.  पढ़ने का कोना (�थान)
2.  िव�ान का कोना (�थान)



3.  खेल का मैदान
4.  �ान �े�
  
Question Number : 183 Question Id : 7532294231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What has adopted innovative mechanism by state/Ut government to rationalize schools?
Options :
1.  School Complexes
2.  School Community
3.  School Committee
4.  School Cooperative
  
Question Number : 183 Question Id : 7532294231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िव�ालयो ंको यु��संगत बनाने के िलए रा�/क� � शािसत �देश सरकार �ारा कौन-सा अिभनव तं� अपनाया गया है?
Options :
1.  िव�ालय प�रसर
2.  िव�ालय समुदाय
3.  िव�ालय सिमित
4.  िव�ालय सहकारी
  
Question Number : 184 Question Id : 7532294232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
While planning policy of school complex /cluster what was NOT the aim of Indian Government?
Options :
1.  Effective Functioning
2.  Effective Coordination
3.  Resource Efficiency



4.  Reduce the teaching staff
  
Question Number : 184 Question Id : 7532294232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िव�ालय प�रसर/समूह (��र) की नीित योजना बनाते समय भारत सरकार का उ�े� �ा नही ंथा?
Options :
1.  �भावी काय�करण
2.  �भावी सामंज�
3.  संसाधन द�ता
4.  िश�ण कम�चारी कम करना
  
Question Number : 185 Question Id : 7532294233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is the most important principle in quality early childhood program while you plan it?
Options :
1.  Professional and stable teacher workforce
2.  Attractive Building
3.  Flexible Time table
4.  Professional and stable curriculum
  
Question Number : 185 Question Id : 7532294233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जब आप गुणव�ायु� आरंिभक बा�ाव�था काय��म की योजना बनाते ह�, तो उसका सवा�िधक मह�पूण� िस�ांत �ा होता है?
Options :
1.  पेशेवर और संतुिलत िश�क काय�बल
2.  आकष�क भवन
3.  सुिवधाजनक समय सारणी
4.  पेशेवर और संतुिलत पा��म



  
Question Number : 186 Question Id : 7532294234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which education policy reaffirms educating the children with disability and learning difficulties with that of normal ones within the same roof?
Options :
1.  Inclusive Education
2.  Formal Education
3.  Adult Education
4.  Distance Education
  
Question Number : 186 Question Id : 7532294234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कौन-सी िश�ा नीित एक ही �थान पर सामा� ब�ो ंको सीखने म� आ रही किठनाइयो ंके िनवारण के साथ िद�ांग ब�ो ंको िशि�त करने की पुि� करती है?
Options :
1.  समावेशी िश�ा
2.  औपचा�रक िश�ा
3.  �ौढ़ िश�ा
4.  दूर�थ िश�ा
  
Question Number : 187 Question Id : 7532294235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which educational institution is selected to develop high quality modules to teach Indian sign Language by NEP2020?
Options :
1.  NIOS
2.  NCTE
3.  NCERT
4.  NCTVT
  
Question Number : 187 Question Id : 7532294235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
NEP 2020 �ारा भारतीय सांकेितक भाषा िसखाने हेतु उ� गुणव�ा वाले मॉ�ुलन िवकिसत करने के िलए िकस शै�िणक सं�थान का चयन िकया गया है?
Options :
1.  NIOS
2.  NCTE
3.  NCERT
4.  NCTVT
  
Question Number : 188 Question Id : 7532294236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which Act is related to this statement? “Inclusive education as a system of education wherein students with and without disabilities learn
together and the system of teaching and learning is suitably adapted to meet the learning needs of different types of students with disabilities”
Options :
1.  PWD Act 1995
2.  RPWD Act 2016
3.  RCI Act 1992
4.  The National Trust Act 1999
  
Question Number : 188 Question Id : 7532294236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस कथन का संबंध िकस अिधिनयम से है? "िश�ा की एक �णाली के �प म� समावेशी िश�ा िजसम� िद�ांग और ग़ैर-िद�ांग िव�ाथ� एक साथ सीखते ह�, और
अ�ापन और अिधगम की �णाली को िविभ� �कार के िद�ांग िव�ािथ�यो ंकी सीखने की आव�कताओ ंको पूण� करने के िलए उपयु� �प से अनुकूिलत
िकया जाता है"
Options :
1.  PWD अिधिनयम 1995
2.  RPWD अिधिनयम 2016
3.  RCI अिधिनयम 1992
4.  रा�� ीय �ास अिधिनयम 1999
  



Question Number : 189 Question Id : 7532294237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which funding policy is introduced by Government of India to provide equitable and Inclusive education for girls and transgenders?
Options :
1.  Girls Inclusion Fund
2.  Gender Inclusion Fund
3.  Transgender Inclusion Fund
4.  Children Inclusion Fund
  
Question Number : 189 Question Id : 7532294237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
बािलकाओ ंऔर िक�रो ंके िलए समान और समावेशी िश�ा �दान करने के िलए भारत सरकार �ारा कौन-सी िव� पोषण नीित आरंभ की गई है?
Options :
1.  बािलका समावेशन िनिध (Girls Inclusion Fund)
2.  िलंग समावेशन िनिध (Gender Inclusion Fund)
3.  िक�र समावेशन िनिध (Transgender Inclusion Fund)
4.  बाल समावेशन िनिध (Children Inclusion Fund)
  
Question Number : 190 Question Id : 7532294238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which cabinet Minister showed interest in Inclusive Education and formulated action plan for it?
Options :
1.  Shri Atal Bihari
2.  Shri Ashok Gehlot
3.  Shri Arjun Singh
4.  Shri Amar Pal Singh
  
Question Number : 190 Question Id : 7532294238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
िकस कैिबनेट मं�ी ने समावेशी िश�ा म� �िच िदखाई और इसके िलए काय� योजना तैयार की?
Options :
1.  �ी अटल िबहारी
2.  �ी अशोक गहलौत
3.  �ी अजु�न िसंह
4.  �ी अमर पाल िसंह
  
Question Number : 191 Question Id : 7532294239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which Government Intervention is mainly focused on Inclusive Education of CWSN?
Options :
1.  Right to Education Abhiyan (RTE)
2.  Sarv Shiksha Abhiyan (SSA)
3.  Samagra Shiksha Abhiyan (SSA)
4.  Rastriya Madhyamika Shiksha Abhiyan (RMSA)
  
Question Number : 191 Question Id : 7532294239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कौन सा सरकारी ह��ेप मु� �प से CWSN की समावेशी िश�ा पर क� �ि�त है?
Options :
1.  िश�ा का अिधकार अिभयान (RTE)
2.  सव� िश�ा अिभयान (SSA)
3.  सम� िश�ा अिभयान (SSA)
4.  रा�� ीय मा�िमक िश�ा अिभयान (RMSA)
  
Question Number : 192 Question Id : 7532294240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Which innovative material has been developed by NCERT for promoting inclusive education in the foundational years?
Options :
1.  Barsha
2.  Barkha
3.  Barchha
4.  Barda
  
Question Number : 192 Question Id : 7532294240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�थापना के वष� म� समावेशी िश�ा को बढ़ावा देने के िलए NCERT �ारा कौन सी नवीन साम�ी िवकिसत की गई है?
Options :
1.  बरषा
2.  बरखा
3.  बरछा
4.  बरदा
  
Question Number : 193 Question Id : 7532294241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The synaptic connections are at its peak at the end of  ….
Options :
1.  Pregnancy
2.  3 years
3.  5 years
4.  8 years
  
Question Number : 193 Question Id : 7532294241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अंत��थनीय संबंध (िसनैि�क कने�न) _________ के अंत म� अपने चरम पर होते ह�।
Options :



1.  गभा�व�था
2.  3 वष�
3.  5 वष�
4.  8 वष�
  
Question Number : 194 Question Id : 7532294242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Calorie requirement of children should be mostly met from ……….
Options :
1.  Junk foods
2.  Sweets and fats
3.  Complex carbohydrates and lean protein
4.  Simple carbohydrates and fats
  
Question Number : 194 Question Id : 7532294242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ब�ो ंकी कैलोरी की आव�कता अिधकतर ___________ से पूरी की जानी चािहए।
Options :
1.  जंक फूड
2.  मीठे और वसायु� भोजन
3.  जिटल काब�हाइड� ेट और तनु �ोटीन
4.  सरल काब�हाइड� ेट और वसा
  
Question Number : 195 Question Id : 7532294243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is true of learning?
Options :
1.  Learning is relatively temporary change



2.  Learning involves a change in behaviour
3.  Learning do not occur through experience 
4.  Learning is a discontinuous process
  
Question Number : 195 Question Id : 7532294243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अिधगम के संबंध म�, िन�िल�खत म� से कौन-सा कथन सही है?
Options :
1.  अिधगम अपे�ाकृत अ�थायी प�रवत�न है।
2.  अिधगम म� �वहार म� प�रवत�न शािमल है।
3.  अिधगम अनुभव के मा�म से नही ंहोता है। 
4.  अिधगम एक असतत �ि�या है।
  
Question Number : 196 Question Id : 7532294244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
There is no ______ method of assessment.
Options :
1.  Standardized
2.  Universal
3.  Valid
4.  Reliable
  
Question Number : 196 Question Id : 7532294244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िनधा�रण (assessment) की कोई ______ िविध नही ंहै।
Options :
1.  मानकीकृत
2.  साव�भौिमक



3.  मा�
4.  िव�सनीय
  
Question Number : 197 Question Id : 7532294245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Early childhood assessments are used to test ___________
Options :
1.  Physical and motor development
2.  Social and emotional development
3.  Cognitive and language development
4.  Holistic development
  
Question Number : 197 Question Id : 7532294245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ारंिभक बा�ाव�था के िनधा�रण का उपयोग ___________ का परी�ण करने के िलए िकया जाता है
Options :
1.  शारी�रक और पेशीय (मोटर) िवकास
2.  सामािजक और भावना�क िवकास
3.  सं�ाना�क और भाषा िवकास
4.  सम� िवकास
  
Question Number : 198 Question Id : 7532294246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Full form PSRN in ECE is ………..
Options :
1.  Problem-solving relationship and numeracy
2.  Problem solving, reasoning and numeracy
3.  Perceptual skill, relationship, and numbers



4.  Perceptual skill, reasoning, and numeracy
  
Question Number : 198 Question Id : 7532294246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ECE म� PSRN का पूण� �प _________ है।
Options :
1.  Problem-solving relationship and numeracy (�ॉ�म सॉ��ंग �रलेशनिशप एंड �ूमे�रसी)
2.  Problem solving, reasoning and numeracy (�ॉ�म सॉ��ंग, रीजिनंग एंड �ूमे�रसी)
3.  Perceptual skill, relationship, and numbers (परसे�ुअल ��ल, �रलेशनिशप, एंड नंबस�)
4.  Perceptual skill, reasoning, and numeracy (परसे�ुअल ��ल, रीजिनंग, एंड �ूमे�रसी)
  
Question Number : 199 Question Id : 7532294247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which among the following enhances communication skills among children?
Options :
1.  Art work
2.  Gardening
3.  Story telling
4.  Organised games
  
Question Number : 199 Question Id : 7532294247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत िवक�ो ंम� से कौन-सा, ब�ो ंके बीच संचार कौशल को बढ़ाता है?
Options :
1.  कला काय�
2.  बागवानी
3.  कहानी पाठ
4.  सुिनयोिजत खेल



  
Question Number : 200 Question Id : 7532294248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The ability to understand that the words are made of varrious sound units and are segmented as 'syllables'  are called as ..
Options :
1.  Phonology
2.  Comprehension
3.  Fluency
4.  Vocabulary
  
Question Number : 200 Question Id : 7532294248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
यह समझने की �मता िक श� िविभ� �िन इकाइयो ंसे बने ह� और ‘श�ांश (िसलेब�)' के �प म� खंिडत ह�, ___________ कहलाता है।
Options :
1.  �िन �ि�या (Phonology)
2.  बोध (Comprehension)
3.  �वाह (Fluency)
4.  श�ावली (Vocabulary)


